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Consider the following statements with referenc®

the Workers and Peasants Party :

1. The Workers and Peasants Party was
1927 and was given the form of an
Organisation. ey

2. The objective of this party Was to work wr:g:z
the Congress so that it could be m“d_e a of
revolution inclined party and an organisation
the common peoplan

Which of the above statments is/are correct 7

(@)  Neither 1 nor 2 ) Bothland2
(c) Only2 <fd) Onlyl
™

fo[‘[]’lcd in
All India

Consider the followingr:{lents and arrange them 10
chronological order :
1.  East India Association E%%
2. National Indian Association
3. Indian Society
4. Indian Association
Select the correct answer from the codes given below :
(@) 1,3,2,4 Lréb) 1,2,4,3
() 1,2,3,4 ~d) 2,1,4,3

<t

Consider the followingpé{rents and arrange them in |4

correct chronological oﬁér starting from the earliest

to the last activity : o

1. Royal Indian Navy Revolt

2.  Announcement of Cabinet Mission

3. Formation of Interim Government

4.  Arrival of a UK Parliamentary Delegation in
Delhi ’

Select the correct answer from the codes given below -

(@ 4,1,2,3 (b) 4,3,2,1

(C) 274a]a3 u(p) 4,2, ],3
™=

Consider the fo]lowingfs-ti— tements with

the Justice Party : ‘-;f "elereace to

1. The Justice Party{opposed Congress by calling
it a Brahmin dominated organisation,

2. It claimed lhe.samc communal representation
for non-Brahmms‘as the Morley-Minq reforms
had given to Muslims.

Which of the above statements is/are correcy 9

(a) Neither Inor2  (b) Both]ang 2

(d) Only]

DST.F-1-23
e Ug dieed 9l F g 7 Frefafad s w

i
1. o U deE uret e 1927 g i @

T faer I dire &1 &9 fear |

2. 3E U FT T FIG & fcnid & HH FET o7
Rrad zger i whifaerdt T arell 9l 3R
SATH SIAT 1 13 ST S |

T § | A1/ FY T 278 ?

(a) TWITH2 (b) 1323AT

(c) a2 (d) a1

Prefftaa eamait ot Rreme ARG aur F g |
Safeerd hifs

1. $eifem wifamE ,EJ,,%%
2. e sfem wEfieE =2
3. Ifemmammdd

4,. sfega waifaaEE

(@ 1,3,2,4 ) 1,2,4,3

(c) 1,2,3,4 (d 2,1,4,3

fefafaa geaelt w fan fifsg oo =7 8@
HTeTHA 8 At Hiftg, wad g & dt rfad
Tfafafir oo

1. Y vrdt e fage

2. e frem dramom

3. Al SR &1 T .

4. faferw vada wiafifinies @ foeslt & s
(@ 4,1,2,3 (b) 4,3,2,1

() 2,4,1,3 (d) 4,2,1,3

stz widf % vt A frmferfiaa st w fomm fifsw
1. e w3 Fim @ faly 38w s nE

JTeAT WIS e T |

2. 3g s & fore o & wneseiies wiafifre
1 < forar S Arel-fie gun 3 qeem
! fearan|

Ih & FH-A1/A T w6 AR 2

(@) FaA1a82 (b) 132t

(c) &ad2 (d) wFad 1
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5. Given below .
piiin g are two statements, one is labelled as f= L w9 fRu e € R § v ) 31 (A) aur
" on (A) and the other as Reason (R). ﬁ‘éﬁm R) FETATE |
sertion (A Th
determined ( b)y dem:n;al::.d()f national currency ST (A) : U q51 9 98 g St faseft qar
curengviis:catled supply of foreign st i SR &1 o et &, 36 T Rfrm wwed €
Y 1s called flexible exchange rate, P - =
THRIOT : ferawft HUET 31I'-]|a &:—';."IZT
Reason (R) : Demand and supply of the foreign ﬁﬂfﬂﬁ(%)?ﬁ%l = o~ R
currency is being determined by the Central Bank. l
Select the correct answer from the codes given below : :ﬁ%ﬁqm@!ﬁﬁaﬂmgﬁq
(3) (A)is false, but (R) is true. (@) (A)TEAE, %Eﬁm)ﬂ'a"f%l
() Both (A) and (R) are true and (R) is the correct| . ) (A) T (R)% mﬁ g 3R (R), (A) F T
explanation of (A). AT HdT & |
© (A)is true, but (R) is false. @ W RFER T
(@ Both (A) and (R) are true, but (R)"is o the| (@ (&) T (R SFEE Ry ®), (1) 7
correct explanation of (A). i e T F@
6. Given below are two statements, one is labelled as ] :ﬂ%a‘raﬁvﬁﬁnm% it @ o it A (A) 7o
Assertion (A) and the other as Reason (R). ‘ aﬁ(aﬁm (R) FETTAR |
Assertion (A) : There is a positive relationship M(A) : A e g (.83,
between Human Development Index (HDI) and the| /. mﬁm@@i@m M Tt
Sustainable Development Goals (SDGs) rankmg of _ﬂﬂﬂm%
tdian States, T (R) : WO (o Aedl % SR Sw F
Reason (R) : The undcrlymg dimensions of SDG r' ﬁmqawfmﬁm%mm%n
 targets are closely related to education and health :ﬁ%ﬁqnq@ﬁﬁﬂiﬁm-aﬁq
aspects. 3
Select the correct answer from the codes given below : i (A) TIFTH% P?:h(R) Hg% |
(@ (A)is false, but (R) is trve. TA) ““;g‘) %T‘ﬁ Reg (R), (A) 1 T
(b) Both (A) and (R) are true, but (R) is not the ~ 2
correct explanation of (A). 421 (c) (A)F-Eﬁ% f q(R)? Sandl
(©) (A)is true, but (R) is false. : #f‘(d?_ (A) T (R)%?-""'ﬁ et ¥ 3R (R), (&) } W
(d) Both (A) and (R) are true and (R) is the correct g e e |
explanation of (A).
: P ) @ @lﬁ@na@%ﬁaﬁmm@%ﬁm
- _ o wgwmwaﬁmgﬁq
7. Match List-I with List-Il and choose the correct P~
‘ answer using the codes given below the lists : _ “'Fﬂ"l 'Gﬁﬁ-l] =
List-I List-II () (2019 - asé;?rm 3
(State) (Rank according to expenditure BTy - ﬁwm )
on infrastructure 2019 — 23) A. e - m:’
A. Maharashtra 1. First B. 3 T 2' Fefry
B. Uttar Pradesh 2. Second C m gt
C. Tamil Nadu 3. Third b m T 1A @%%
D. Kamnataka 4. Fourth ‘#iﬁf' ‘ 15 gl o X
' Codes: ; E\TE L :
A B C D 24 ,[”4' e BIRCIIED
@ 2 1 3 4 o} : 206, 1770307 4
® 1 2 3 4 ,,,(b)l‘234‘
© 2 3 1 4 © 2 3 1 4
M. (@ 4 1 2 3 e @y 4010 2,408
----------------------------- *gw e T e Pl et LR TG o v T2 s R e S |



10.

11.

12.

The Concurrent list of the Indian Constitution
includes :

1.  Trade and Commerce g&a

2. Adulteration of Goods @}

3. Succession

Sclect the correet answer from the codes given below @
(@) 1, 2and3d (by 1andl

(¢) 2and3 Il M(d) Only |

(

Fathima Beevi died n:‘cc‘:\ntly. Consider the following

statements regarding her:

1. She was the first woman judge of the Supreme
Court of India. | ™/

2. She served as the Govemor of Kerala from
1997 - 2001.

3. She was the first Muslim woman to enter into
higher judiciary.

Select the correct answer from the codes given below :

(a) land3 (b) land2
(c) 1,2and3 (d) Onlyl
With reference to the “iﬂétlonal Intellectual Property [ 10
Rights Policy'’ consider the following statements :
I. It reiterates India’s commitment to Doha
Development Agendaand the TRIPS agreement.
2. Department of lndugtrfal Policy and Promotion is
the nodal agency' for regulating Intellectual
Property Rights in India.
Which of the above statements is/are correct ?
(a) Neither I nor2 (b) Only2
(c) Both1land2 (d) Onlyl
Which Amendment Acts deal with Local Governance
Institutions in India ? 11.
(a) 86! and 87 Amf_nc}lmem Acts
) 63 and 64" Amendment Acts
(c) 73" and 74 Amendment Acts
(d) 42" and 437 Amg’xﬂdment Acts
=~
Consider the followiné statements with reference to | 12
Special Officer for Linguistic Minorities : ’
1. In the Constitution, there is a provision for the
post of Special Officer for Linguistic Minorities
for every State.
2. A new Article 350 B was added for this by the
oth Constitution Amendment Act.
Which of the above statements is/are correct ?
(a) Neither 1 nor2 (b) Only?2
(c) Bothland2 (d) Only ]
------------------------------------------------------ g
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W1 wiferer oY aard aeht 3 afrer o/ -
. =R v A

2, amm i fireae

3. Jaufiemw

e fow o g 1 @ w3

(a) 1,233 (b) 133
(c) 23ft3 (d) Fae |

wife_afeft e A F Foe mep ) e AR H

Frerfifias @t ot frem Fifdre -

1. ;ﬁm%@ﬂwﬁmnﬁwm

|

2-F%1X 1997 — 2001 % A TT F TSI % T H
Famd o 4 |

3. 9% eI AR A qEe arft geelt g
Afge ot |

:n%ﬁqw?fdﬁ'ﬁi’r&ﬁ’mﬁﬁﬂ:

(a) 133 (b) 132

yl,zaﬂt:s (d) Fad1

cudtn s amer sfmR A F @t 7

FrfatEa Fuat ot faar hiterg ;

1. o 3T e et ok oo amsita & afd Wrd
H vfoagar Freuar 2 |

2. rdfis Aif ok gy fovm, wa § aifes
e e F s w9 F fou =%
IR R |

I H & P/ A HE 2/ ? @gg
(@ FWITE2 (b) FaA2 @
(c) 13f23Mt (d) Hae 1

91 Gy StfafEn wie § v e e @
wefaa g ?

(a) 86al 3R 874t HygA rfifam

(b) 633t 3TN 64at wvIre rfufan

(c) 73l 3 74af syiras AAfufm

(d) 42af 3 43af wamre rfufay

Wl sreuEEE & foe fade sfuewrd & vt F

frafafas sy © faamn fife -

|, dfaum §, 9& A ¥ W seTEeasht &
foru Fardry sxfirapTtt 3 42 1 g fRT T R )

5 oF wfaum wyie aifuftaw g e foY oF
71 3T 350 B ST

Wﬁ&m-wﬁmuﬁ%fﬁ?
(@) Far1ad? (b) Faw2
(¢) 1323 (d) el |
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» ‘n )
- Given below are two Statemen;
Cl - s i
13 assertion (A) and the other o Re;s(::,e( II{S labelled as 13.
Assertion (A) : Most of e o, g ionali
conslderﬁd B‘nUSh rule as o, Y nationalists
destined to bring modemisatio, - °! providence

" 'Reason (R) : They compiy;
«Un-British rule” in India, wiiged only against

Select the correct answer from the g
des pj
(@ (A)is false, but (R) is trye, § Biven below :

' (b) Both (A) and (R) are try '
correct explanation of (A).e, but (R) is nor the

(¢) (A)is true, but (R) is false,
(d) Both (A) and (R) are true and

explanation of (A), (R) is the correct
14.  Which one of the following Statements |
about William A.J. Archbold ? R e
L 14
() He was the Principal of Lah ‘
e ore College,
(b) He was the Principal of Government College
Dacca. ’

(c) He was the Principal of the Muir Central
College, Allahabad.

"(d) He was the Principal of MAO College, Aligarh. 15

15. Consider the following events and arrange them in
chronological order starting from the earliest :

1. Vellore Mutiny

2. Death of Nana Fadnavis

3. Recall of Wellesley

4. Anglo-Nepalese War

‘Select the correct answer from the codes given below :
(@ 4,1,3,2 (b) 2,3,1,4

() 3,1,2,4 d) 2,3,4,1

16.
16. Match List-]1 with List-Il and choose the correct

answer using the codes given below the lists :

List-I List-1I1
(Revolt) (Leader)
A. Paika Revolt 1. [Edachena Kungan
B. Bareilly Revolt 2. Radharam ‘
C. Malabar Revolt 3. Mufti Muhamf'nad Aiwaz
D. SylhetRevolt 4. Jagabandhu Bidyadhar
Mahapatra
Codes :
A B C D
(@ 3 4 1 2
® 4 3 1 2 e
© 2 1 3 4 (e
W 3 2 1 4.

DST.F-1-23
1 & o R e &, Rt & v 9 it (A) T
@ﬁm(ﬂ)mm%n )
arftrmaA (A) : T ¥ & wfey #

frferar Tt $varti 3 enman o R Ity syt

aETgn |

THTOT (R) : 70! v et Wi & “em-frfew o=

¥ faams ot

3 R e 8 & wet s

@ (AT, B R TR

®) (A) 3 (R) 3 7@ E, fig (R), (A) 6 =&
ST g FETR |

© (A)TAR, g R)Ta R

@ (A) 3R (R) A 7 T W (R), (A) F S
T HATE |

e w3 smERe ¥ waf § frefafea # @

. FH-H T T TELE 8 7

(a) o TTER el ST o ST & |

®) %rﬁﬁﬁaﬁl?{?,m%mé’n

(© ammﬁhw%W%
@ RT3 e, ehg F JEE & |

frferfiag geaRt w fear Ay qur 78 iy ¥

FIAFATTAT S ferd shifsig

I N E

2. T GEUEE S g E‘%%
3, STl I STE AT =
4. ' -ﬁﬂ'ﬁﬁ@}

e fog e e & HRE ST

@ 4,1,3,2 ;iﬂ ® 2,3,1,4
(c) 3,1,2,4 <j" d 2,341
™

Tef-1 =Y -1 @ g hifae s gl & 4= Re
T 2 T AT S Wl IR AT - \
-1 -1
(Fz¥E) (AgeThal)
A. g fagie 1. GEEAHH
B. el fasie 2. TEWH
C. wiER fasie 3. o HIEE T
D. Rreefide n 4. sy fremmsem
®e =
A B St b
@ 3 4 9 2
b 4 3 f{-t 2
© 2 1 3 4
@ 3 2 ] 4
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17.

18.

19.

20.

.......................................................................

Memorial and

With “Kohima Peace i
reference to the ments is/are

Eco-Park” which of the following state

correct ? )

1. Its inauguration programme was
8™ March, 2024 at Kohima.

2. It will be developed by South Korea.
iven below :

held on

Select the correct answer from the codes §
(@) Neitherlnor2  (b) Only2
(c) Bothland2 (d) Onlyl

With reference to “Mobility Arrangement for

Talented Early-professionals Scheme” (MATES),

which of the following statements is/are ;tﬁﬁeﬂ ?

1.  This is a bilateral framework bem'sl‘:gﬁ India and
Australia. o

2. In this scheme Indian gradﬁi"fes (aged
18 — 30) with knowledge and ski(l?s n specific
fields of study will be offered to live and work
in Australia for up to two years.

Select the correct answer from the codes given below :

(a) Neither 1 nor2 (b) Only2

(c) Bothland2 (d) Onlyl

With reference to the International C?nf;creuce on
Nuclear Security (ICONS - 2024), ij_gh of the
following statements is/are correct 7 <}

1. This conference was held on 25 My} 2024.

2. India has  recently reconsﬁl ted an
inter-ministerial Counter Nuclearp Smuggling
Team (CNST) to strengthen the nuclear security.

Select the correct answer from the codes given below :

(a) Neither 1 nor 2 (b) Only2

(c) Both!and2 (d) Only 1

With reference to the “Pirul Lao — Paise Pao”

campaign, which of the following statements is/are

correct ?

1. This is related to reduce forest lfites and to
provide a source of income to vil]aé_“;‘_rg_

2. The Chief Minister of Uttarakh% launched
this campaign.

=4
v

Select the correct answer from the codes ggjidn below :
(a) Neither 1 nor2

(b) Only2 VA
(c) Both1and2 (d) Only 1 E&%

17.

18.

19.

20.

DST.F-1-23
“Fhrfen wiife T oft gEr-arh” & ooy ¥ F=fafam
TA R TG /2 ?

1. 36 IR FRAN 8 W, 2024 H Hifewn §
e foRar |

2. TR P i g feiaa ferar stme |

ﬁﬁqqﬁ@ﬁﬂﬁ'ﬁﬁ'mﬁﬁﬂ:
() FA1TE2 (b) Faa2
(c) 1323 (d) Faa 1

wgfinmremelt yrfive 9E % fog nioeiierar SEEwn

AT (MATES), 3 g & freferfiaa & & s-w@

FUTTER/E?

1. 7% Wi ik s ferar ¥ +fte o R gt 21

2. Tw AT i aremd 3 fafire &t # g o wve
TR e et (18 & 30 7 ) &
A sireferT i Y ot wW Y i Ty A
St |

aﬁ%ﬁqﬂqagﬁﬁaﬁmgﬁq:
(@) Far1T8E2 (b) HaA2
() 13M23H (d) Fa1

QU] T T LT FHe (ICONS - 2024) F

g § Frafafaa T A AA-arA A g 278 2

1. 9% gAIeH 25 1, 2024 Y ST ToRam T o |

2. VI ¥ Tl 9 qO] gea S AeEd S & A
T ST FATert qTY] e et S (CNST)
REUCEACRI]

_ﬁﬁqﬂﬁﬁﬁﬁﬂﬂﬁ(ﬂﬁ?:
(@ TAA1TR2 (b) a2
(c) 13fT23m (d) Faa 1

et @Tel) — 38wl sifim & gt ° Fafafad

F Y FH-E/A FF TR /8 ?

1. o ST Y ST HH A AT AT Y T
e H  WEfa 2 |

2. TGS o GEAAT § 39 ST Y e i |
% Ry e & wd SR gl
@ FTd1TE2 (b) Fae2 -
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Consider the following mountains anqg arrange
in correct order from West to East by theyr locatione:m
1. Karakoram 2. Pontic
3. Hindu Kush 4. Zagros
Gelect the correct answer from the codes given below -
@ 2 3,4,1 ) 2,4,3,)
© 4123 @ 4231 g

. =X
Which one of the following pairs (River — Direction)
is not correctly matched ?
(2) SyrDarya — North-West
(b) Amur river — North-East
(c) Mekong river — South-West
(d) Angara river — North

Which ~ one of  the following  pairs
(Country — Oil field) is not correctly matched ?

(a) Kuwait — Kashagan
(b) Iran — Haft Kel
(c) Iraq . — Zubair

(d) Saudi Arabia - Dhahran

Consider the following statements with reference to
Mediterranean climate :

1. Itreceives rainfall in winter season.

2. Due to winter solstice, air pressure belts shift to
the South.

Which of the above statements is/are correct ?
(@) Neither Inor2 (b) Only2
(c) Both1land2 (d) Only ]

Consider the following statements with respect to the
climate of Western Europe :

l.  Western Europe receives rainfall in all months.

2. Westen Europe is located in the belt of
Westerlies.

Which of the above statements is/are correct 7
(@  Neither 1 nor 2

() Both1and?2

©) oOnly2

DST.F-1-23

) ) Frafrfiaa vddt W RER AR T 7 7 W

W@ﬁﬁiﬁaﬁlmﬂﬁmm:

. SR 2. vifvesw
3. fegmw 4. W
(@ 2,341 (b) 2,4,3,1

(C) 4, l, 2; 35.‘ (d) 4! 2! 3' 1
[

ﬁmﬁ{ﬁéﬁgﬁiﬁ'cﬁaﬂtmmﬁm Ty S

W g e 8

@ RrafErcs - Wi
®) F[T - I
() FEmAd - afmafEm
(d) e - W

ﬁq%f@agﬁ@w-%aamﬁﬂm.muﬂghﬁﬁ
T 27

@ T L0 - FH
(b) K t-';_]-: — TE o
£ _
@ = ST T afig)
©(d) I/ - HEH ST

4
eEETE siearg § wed #§ Frafafaa s @
feram Fifre
1. gl viawg d i St 1
2. il sria % Hror awee Yt afior £
A faws St &1

I ¥ FH-HA U W /R 2
(@) FAAI1THE2 (b) FaeA2
(d) a1

(c) laﬁtzaﬁ_ﬁ‘!i
s";.i

aftt T A oy % e § P At @

Reme: )

1 ot gy i eft et o et A |

2. et o wgar e 1 39 3 srt R 2 |

S & - e el 28 0
(@ ATdA13%2

() 1323

(c) Faw2

(d) e




DST.F.

3 1-
;e%l.a Consider the following statements with reference © - mﬂm%m?ﬁm aa%mﬁﬁ‘?fﬁ;
Upper Gangetic agro-climatic reglon “‘ﬁﬁ“ﬁﬁm: -
I. This region encompasses central and westem 1. “mﬁﬂaﬁtqﬁaﬁm s ﬁﬁﬂﬂ‘ﬁ%'
Uttar Pradesh. o 2. e R mewar 130% & Al qup
2. This region has morg than 130% irrigation TETAT 140% 2 |
intensity and 140% cropping intensity- ﬁﬁq“‘l?ﬁﬁnﬁmgﬁq :
Which of the above slalcm’gq\s is/are correct ? (@) FA1782 (b) 13 23A
(@) Neither 1 nor2 (8] Both 1 and 2 (c) Famr2 (d) Fac
() Only2 (@' only!
27. Match List-1 with List-Il and choose the correct 277 -l F e @ gafera s ofte gt 4 fig
answer using the codes given below the lists : T 5 1 ST ShC et e g
List-1 List-II 1 A
; el) @) (@R el 9 )
(Pass) (Height from Sea Leve A. e 1. 5360 HiX
A. Debsa 1. 5360 metres —_—
5. Relous ) 4;‘56 s B. e J 2. 4850 HiX
C. Baralacha 3. 3978 metres C. ST 3. 3978
D. Banihal 4. 2832 metres D. FtEe 4, 283270
Codes : o wT :
A B C D A B C D E‘L =
@ 3 1 2 4 @ 3 1 2 4
(®) 1 3 2 4 ® 1 3 2 4
() 3 1 4 2 © 3 1 4 2
@ 1 4 2 3 %%% @ 1 4 2 3
28. Given below are two statéQents, one is labelled as !
Assertion (A) and the olhc;i";i;s Reason (R). 28. AR < e f %' fort @ L3 Fr AR (A) T
Assertion (A) : Jute is an ri';l;:iigenous plant of India. a}ﬁaﬁm & SR
Reason (R) : Jute is A~é.banf crop sown from e ?EWWWW%I
February to June and harvésted from July to October. :‘mmag)% ﬁﬁﬁmﬁ%ﬁmﬂ ﬁ% TE |
Select me‘correct answer from the codes given below : 3 Rum agzﬁﬁuﬁmﬁﬁn ;
(a) (A)is false, but (R) is true. @ (A)TEE 3 ﬁ*ﬁi ®) e
(b) Both (A) and (R) are true and (R) is the correct sk (R) AT @ E 3 ®), (A) ¥
explanation of (A). (®) &) (R)
. T H 8 |
(c) (A)is true, but (R) is false. © @ @, R eE
(d) Both (A) and (R) are true, but (R) is nor the @ (A 3 R) 36w E B R, (A) I T
correct explanation of (A). aq‘[@T#’E‘fﬂaTﬂT%| ________
‘8' """"""""""



........

H ] with List-Il g
tch List-] w1 I1 and ¢pq
i :;iwef using the codes given below u?zelisl[];e Correct

Listd List-I1
(Author) (Book)
. 1. ACom i
N Cafli -OMprehensiye 11
Gopal India : The Delh;j S}:;lﬂgg of
X abiband 2. The Economic Life of
Sl Northemn India °
o KS. Lal 3. Early Chauhan Dynaslics
0. Dasharatha 4. History of the Khaljis
Shm-ma & 2
Codes : Ega
A B C D
@ oz 2
® 2 %3
@ 3 4 l .

4 3 2 1
Consider the following statements -
1. Kunwar Singh, Landlord of Jagdishpur in
Bihar, led the rebellion against the British,
2. Lorq Dalhou§le r_ecognised the adopted son of
Rani Lakshmi Bai as the heir apparent.

Which of the above statements is/are correct ?

(a) Neither 1 nor 2 (b) Only2

(c) Both1and2 (d) Only1 (
Consider the following foreign travellers and arrange
them in ascending chronological order :

1. I-Tsing
2. Al-Biruni
3. Huentsang (Hiuen Tsang)
4. Fahyan (Fa-Hien)
Select the correct answer from the codes given below :
(a) 4,3,1,2 (b) 1,2,3,4
€ 3,4,2,1 (d) 2,1,4,3
Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Balban made his government firm
and centralised all authority in his hands.

Reason (R) : He wanted to protect the north-west
frontier against Mongol invasions.

Select the correct answer from the codes given below :
(@) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).
(A) is true, but (R) is false.

Both (A) and (R) are true, but (R) is nof the

29,

30.

32.

correct explanation of (A).

ylaﬁrza‘lﬁ

DST.F-1-23
eft-1 1 -1 & gAfera il o gikwdd & A9 R
miﬁammﬁﬁﬁmﬁﬁq
qet-1 -1
GLCED, (%)
A. oSt 1. 37 il fewdht aive ifan
:ﬁm—akf: 2 feeeh weaa

B. EfA U 2. @ SHEIN gH A A1dA
PremfiC HE
¥ 7 3. el dem s

C. 4
D. I 4. feeh 3iTe g wershts
E!\E :
A B C D
(a) 1 2 3 4
b 2 1 4 3
() 3 4 1 2
(d) 4 3 2 1
freferfaa FeAT € foem Fif -
1. ferere A sdergu & Sffer, fer fiie 3 ST %
Fore (¥A1E 71 e P

2. Wi TEENt A T @Edt W8 % gaw @ A
YT B ) HI=rT Yo # |

o T & R/ Fo W /R

(a) AWITE2 (b) FaeA2

(d) Faal

Frefaftaa Rl wtE o faam i aur 3= T

WW:

F-aEH EyE
3w 5
. EEA
At o e & & e I g
(@) 4,3, .2 ) 1,2,3,4
(©) 3,4,241 (d 2,1,4,3

e~
i 2 e R T E, S & o sl (A) a
TN H (R) FET TR |
AR (A) : FEraH T AU ITEA FY GG ST IR
TPt | Y 319 B o Shfeea w fora |
®WRT (R) : 98 IA-UEm Himy &1 9o ammeaey &
YURad AT TEar ot |
A e o oz F @ wéd swc g
(@) (A)Teae, g (R) TR
(b) (A) W1 (R) THT ®eT & 3R (R), (A) Tt G
AT FATR |
(A) e 8, fFg (R) e 2 |
(A) w1 (R) 3T Wt &, feeg (R), (A) F @
STEAT T S & |

BwN -

(©
(d)



ok

33.

34.

35.

36.

37.

.....................

, 1891
With reference to the Age of Consent AC

consider the following statements :

1. It was Behramji Malabari, 2 C
from 1?'0mbﬂly,J who advocated for this
legislation. st wing

2. The Act was supported by the extr
led by Bal Gangadhar Tilak. L
Which of the %&e statements is/are correct
(a) Neither Jor2 (b) Only2 5

(¢) Both1and?2 (d) Onlyl:

Given below a¥é two statements, 6ife”is labelled as

Assertion (A) :iﬁ'ithe other as Reason (R)-

Assertion (A)':"Shivaji had to face oppos

the big Deshmukhs. .

Reason (R) : These Deshmukhs were not in favour

of an independent Maratha State and wanted to

remain as feudal lords of Bijapur.

Select the correct answer from the codes given below :

(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A). 5%%

(¢) (A)is true, but (R) is false. D!

@

ition from

s

Both (A)-and (R) are true, but (R) is nof the
correct e)@fmation of (A).
Which of the foﬁjowing reasons caused catastrophic

coral bleaching~ and mass coral deaths in the
Andaman and Ni¢obar Islands ?

(a) Increase {off 2° C temperature in the Indian
Ocean -

(b) Increased industrial activities in the coastal
regions

(c) Decrease of temperature by 4° C in the Indian
Ocean

(d) Heavy marine pollution

Consider the following statements with respect to

Ashoka:

1. The definition of Dhamma given by Ashoka is
taken froz'r_l’:’Rahulovada-suna”.

2. In the l&th year of his coronation, Ashoka
appointed-, @ new type of staff, called
Dhamma*;ga.hamatras.

Which of the aboye statements is/are correct ?

(a) Neither fdor2 (b) Both!and2

(c) Only2 (d) Only1

Which measures are essential to achieve Goal 4 of

the Sustainable Development Targets, 2030 ?

1.  Making education free and compulsory

2. Improving basic school infrastructure and
embracing digital transformation

3. Expansion of agricultural programmes

4. Increasing investment in technology

Select the correct answer from the codes given below

(a) 1,2,3and4 (b) 1and?2 -

33.

34.

3s.

36.

37.

DST.F14,
Hefa A g afufram, 1891 & Wl § Py
Wﬁﬂﬁ:ﬁﬂﬁ‘q:
1. T ¥ ¥ e Y GO, SRS e

T2 3a e o Tt bt oft |

2. Waﬁﬁmaﬁaﬂmﬁm%ﬁ-@m
gty o g fear o |

I T q HA-G1A Fo qE /2 ?

(@) TA 172 (b) Faw2

(c) 13f2aMAr (d) Fad |

1 &) e g e B, sl @ w i A (A

ZH I HTOT (R) FETTATR | el

rfirrer (A) : Rrarsht 1 o1 et  fertra & am,
FEATT |

FAT (R) : ¥ @ T qUST TS F T F T g

3 & amid & & AT Eed o |

Fr feg e # & vt IW IR

(@) (A)Tea e, g (R)FRRI

®) (A) 3 (R) 3T T E I (R), (A) A T
AT FETE |

© (AT FgER) TR

d) (A) 3 (R) aHT w& &, fHg (R), (A) F &
ST T&1 HAT 8 |

sigam T e doame 7 Frefafaa 7 @ faa s
guﬂgvgmmﬁmgmmmﬁvmﬁaﬁw
?

(@) o= wemmmFammEH 2° cHrafg

(b) it i & shehfirs wiafaferdt f ofe. S
() RemmmEFawET4ecHF
(d) T AT wguoT

ateiie & g § Frefefiaa seEt o faam fifer -

|, ome ¥ ww R S wfomr & B Oq
“TEAERT U TR |

2. o[ TSAE ¥ 149 ad o 7Tk 3 TG
T U A WehTL o ey <t Fgfen i )

I o & -H/A T W R ?

(@ TA1TE2 (b) 132 2AT

() wad?2 (d) Fael

Haq fae @eg, 2030 ¥ TRT 4 H IW HW & o

FH-a1A I AT 8/3 2

1. e fryes o stfard s

2. W%gﬁwﬁaﬁﬁ@maﬁr%ﬁzﬁqﬁaﬁ
1 AT ‘

3. i HREAI ol R

4 et fawrd afe

3 fromo e # @ wEt IwU
@ 1,2,334 () 132
© 233 @ F|



:

5.

Wwith reference to Economic Growth,
following statements is/are correct 9

|, Indian Economy is an Underdevghped Eco
» Indian Economy is a Mixed Economy.

;‘ J.M. Keynes is the Father of Economics,
Select the correct answer from the codes given bejoy -
(a) Only 3 is correct.

(®) Only 1 and 2 are correct. =
©) Only 2 and 3 are correct. E%{i
() Only 1 is correct.

Which of (he

nomy,

List-1 contains the names of countries,

9. . whereas
List-I shows the Rank as remittances received in the
year 2022. Match. List-I with List-II and choose the
correct answer using the codes given below the lists :

List-1 List-11

(Country) (Rank)
A. Mexico 1. First
B. China 2. Second
C. India 3. Third
D. Philippines 4. Fourth
Codes :

A B C D

@ 2 3 1 4
® 4 1 2 3
© 1 2 3 4
@ 3 4 2 1

. With reference to India, consider the following

events :

1. Nationalisation of Banks

2. Formation of Regional Rural Banks

3. Adoption of villages by Bank Branches

Which of the above events can be considered as steps
taken to achieve “financial inclusion in India”?

(@ 1,2and3 (b) Only2 and 3

(c) Only3 (d) Onlyl and 2

L With reference to “National Food Security Act”,
which of the following statements are correct ?

. It will cover up to 75% rural and 50% urban
population.
2. It phﬂs special focus on nutritional support 10
women and children.
3. It was enforced on July 5, 2010.
Codes :
(a) 1 and 3 are correct.
() 2and 3 are correct.
(¢) 1and 2 are correct.
"""""" (). 1,2and 3 are comect. ..oy
S

38.

39.

40.

41.

.................................

DST.F-1-23
anifier wigfe & Tt 8, Fraffas & & - Fe

2R
T.a Tt STdaae U reafaid sdsae 2 |

o wdta srdeaeen o fifi e 1
3. SNuH. I ITANE & FH € |

3 frg T e 8 wE I T

(@) FaA3ITAR

(b) | 2 FAE | E%Eﬂ
© 3TEE 5
@ e g |

qaﬁ-[ﬁéwﬁ%w%,aa%@-nﬁaézozzﬁ
et g st E AT R (G) F STET aar
wm%l@-lﬁ@-llﬂgﬁ%ﬁmaﬂt@ﬁ%

ﬁﬁqwgmmmnﬂﬁtgﬁq:
aeft-1 f~ eI
(@) I @)
A. BfereR ‘::’;1 e
B. ¥ ~2. faeda
C. WiRd 3, g
D. feefidia 4. =
ag'a:
A B C D
@ 2 3 1 4
® 4 1 2 3
© 1 2 3 4
@ 3 4 2 1

@%mﬁﬁ,ﬁﬂﬁf@auﬁéﬁmﬁaﬂﬁm:

1. ST o T -~

2. St amior St & e

3. ﬁmﬁmﬁaﬁﬁéﬂ

I vl # & foRl/fened «wia | forfra wwma

TH &0 3 F7T IS TaT FHaw T 1w & 2

(a) 1,233 (b) Fa 233

(c) Faa@3 (d) Sheer 1 32

“efta T gean st Fwed f fafafea s @

FA-AFUA AT 9

I, ES%maﬁxw%mﬁmﬁm

I R

2. |H Afearell iR sr=at @rydreor wnde o faRi

i fea mr N

3. W5, 201oaﬁm@§immm|
. N

(a) 13M3uddE N
(b) 23 3wEE N
() 13h2a@tE

d) 1,23R3udE)

......................................




42,

43.

44,

45.

46.

Select the correct answer from

Given below are two stateme
Assertion (A) and the other as
Assertion (A)
Constitution deals
emergency.

Reason (R) : An emer
time.

orrect |42.
Which of the following stﬂ‘e“;e;“s wre €
i sed e-Governanc of
:e.garil-rgo[vcczn:icc reduces the transparency
\Y ent. t.
2. S—cé:\l;:[mnancc reduces the coSF DfGO‘./en:tne?mo
3.  e-Govemance increases citizens 1P
ernment.
4, S%‘;\Z“;ance increases -bureauc.
red tapism. , .
Select the cgrrect answer from th"ven bl
(@) 2and3 (b) 7 43.
(¢) 2,3and4 (d) 1,2and3 '
The UPSC derives its functions from which of the
following sources ?
1. The Constitution
2. Parliamentary Laws @%g
3. Executive Rules and Orders @
4. Conventions
Select the correct answer from thé.Eddes given below :
(@) 1land3 (®) 1fdnd2
© 1,2, 3and 4 (d) 0_131}/1
Which one of the following is cotr;ctly matched ? 44.
Constitutional Body (! Constitutional
{~ Article
(a) National Commission - 148
for Scheduled Castes
(b) Election Commission - 165
(¢) National Commission - 340
for Backward Classes
(d) Finance Commission ~ 263
Identify the correct chronological sequence of the @
following :

l. Shankari Prasad vs. Union of India

2. Sajjan Singh vs. State of Rajasthan

3. Golaknath vs. State of Punib

4. Kesavananda Bharati vs, Sfa:fé of Kerala

(@ 3,2,1,4 (®) 1

43,2
© 3,4,2.1 ry!

@ 1234

Reasop (R).

explanation of (A).

the codes given below :

AJ_'tic]e 352 of the Indian
with the declaration of an

ECNCY may take Place at any

Select the correct answer rom the codeg
(@) (A)is false, but (R) is trye. & Ve below
(b) Both (A) and (R) are U'Ué,rbul R) ;

correct explanation of (A) ™~ R) is nor the
(c) (A)is true, but (R) is falsc,:_‘:?‘r
(d) Both (A) and (R) are {rye mﬁ" (R) is the correcy
ot

nts, one is labelled a5 |46

----------
.............

B _

DST.F
TRANA, e $vade 3 gy P, &
AT AR E | :;1&%
I i o S, V-

2. iﬂﬁaﬁrmﬁmma’m:g?'

3. s‘-ﬂ'ﬁa%wﬁmﬁﬁm

Rl
4. St e € e ﬁm@
ﬁ%mﬁﬁﬁmmgﬁq: ‘
@ 233 (b) 23f4g 18.
() 2,334 (d) 1,233
9 i e ST Y Frefafan # §
LUEEE R L
1. wfam
3. ma:rﬁ?ﬁqaﬁwr%w égxi
4. qoEd
(a) 133 £y 1 3
(€) 1,2,33f4 (d) Fae|
ﬁq%%aﬁﬁaﬁq-m@uﬁg&m%? 9.
wifoenfie e wifaufis
AT
(2) U srafta fy s 148
(b) Frate smim - 165
© wEfegatamm - 34
(d) Fomramgm - 263
ﬁuﬁ@a%aﬁwﬁwﬁﬁq: 5
1. il yoTE S ey |y
2. oo fHe T teem usy
3. TR ST S U
4, HIETE W S e T
:ﬂ%ﬁqﬂq@ﬁﬁﬂﬁﬂﬂﬁq:
(@ 3,2,1,4 (b) 1,4,3,2
() 3,4,2,1 d 1,2,3,4
ﬁamﬁqm%ﬁ?ﬁwm‘mﬁwq(mm
ZEX ) T (R) &1 TR |
s (&) ;W W e

WO (R) : e fufa et oft ama o= @
Thdt e | .
(@) (A)TEaE fEg R wR e
(b) (A) T (R) 3 & 3, fFg (R), (A)
STEAT 7T T8 | .
A) TR, fFg(R) TR |
:1)) EA)W(R)ﬁw%aﬁr(R), (A) B



a : DST.F-1-23
o of the follm_vm_g freedoms ; _ ;
] ;ﬂlge Indian Constitution under Ar:isc;; olrgg;laranteed 47. \_ﬁ@% Farta ﬁﬂﬁ{@ﬁ T g -l U EaAar
(ay) Freedom 0 OWN, acquire anq g T T g M T A T R 2
propsrtl); to assembl pose of (a) =, St Ie y
o e : : ;
®) g;; Peacefully apg o ®) mﬁmwmw&gﬁgmn
(©) Freedom 10 pl'aCtng any trade or profession (:l) ‘E%ﬂ T §=aIaN @ﬁ_ﬁ;{#aﬁr SLER) -
a) Freedom to move freely throughout the ¢q (d s
Given below are two statements, one js labc“u ntry |45 <o @ Re e E, R @ o i s (A) T
L ssertion (A) and the other as Reason (R), ed as .\g}aﬁm (R) HETTATE |
Assertion (A) According to the Constitution 8 e diaus & s g atw
jndia, the same person camnot function as th T g o 2y AfuF F TUTA F IS
Governor of two or more States at the same Yitne e e T8 I
geason (R) : Af;lcﬁebISB of the Indian Constitution =HROT (R) © TR " F =98 153 H T8 FaA
states that there s i e a Governor for each State. a2 i S T 3 [T T T dTed BT |
\S;}CS: -Lhe correct answer from the codes given :n%ﬁwm?gﬁ ﬁ“ﬂmﬁﬁq :
ow -
- ; A) e 8, fFq R) TR &
2) (A)is false, but (R) is true. (@ ( [
%b) Both (A) and (R) are true, but (R) is nor th (b) (A) @ (R) el g, g (R), (A) E2) H;ﬁ
correct explanation of (A). ¢ ST g1 FATE | DRS
(© (A)is true, but (R) is false. (c) (A e, (R) T 2 | =

j) Both G B L are tue and (B 4 d) (A) T (R) TH T I R), (A) = =&
@ explanation of (A). ¢ and (R) is the correct ( ‘ e
9. Which one of the following pairs is net correctly |49. frefafaa 3 -2 S 1 fre wEr T e ?

mached? (@) SEAEE e I A S
(a) Equality of - = ?%aranteed only to STEEU T FHEAT fere gfafera 2
opportunity 1n public ndian citi 1 S s ¢
emloymgn P i eieens ) ffrFameE-. - FrTfeERt T AT aH1 &
(b) Equality before — Guaranteed to both wHdl 'ﬁfj} %Qgﬁf‘ﬂﬁiﬁtﬁ% ;
Law citizens and (c) FFTSEHFAH - Ty faram-Hee & ifwat
non-citizens FeATT ~
(¢) Altering the name of — Power of a State () WWT@’I’% _ gae$rnie
a State Legislature PITWEFGTE *

(d) Creating a new State — Power of Parliament 50. ‘ae'\iﬁ. 13 'FEﬂ-II ES \ﬁﬁ AR 3t E %9 R

0. Match List-I and List-Il and choose the correct
answer from the codes given below the lists T e T ST <L Hel 3T iislq :
Ei-1 gt-11

List-I List-I1 1

A. Consolidated Fund of India 1. Article 266 A. W i dfaa Ff 1. T =9% 266
B. Finance Commission 2. Article 360 B. o smam 2. IV 360
C. Financial Emergency 3. Article 280 C. fafia smamaeTer 3. 704 280
D. Comptroller and Auditor 4. Article 148 D. NE % Fgas 4. :ﬂiﬁa 148
General of India HeTerEn gliers
Codes : w7 : L
A B C D s ™~
@ 4 1 3 2 @ ? ]]3 «C D
® 3 1 2 4 50 ® 3 1 3 2
©@ 1 2 3 4 Dk © 1 2 £ 4
s @ g3 o2 4 4 by the Right @ 1 3 fg 4
' ich of the following are envisaged By * e ghe &
agains , SO OW e of India ? 51. = § wime & e ifien & srata
l? t Exploitation in the Constitutio PR & ey f B N

Abolition of untouchability

2 Prohibition of human trafficking and foreed 1. regyEar & 3=
labour _ ) 2. YHA <E AR 3N S 24| 1

3. Prohibition of employment of children 1 3. SREEr i @ i aw i regh # Ry
factories and mines 4. IregEEg! & feai =

4 Protection of interests of minorities # R # it

Select the correct answer from the codes given below : TFEH G “ﬁmﬂﬁm :

(@ 3andg4 (b) 2and3 { (@) 3%n4 (b) 233

) 1and4 @ land2 oo (@ ..13f4 @) sw2



e it i s
2

52.

S3.

55.

1ce to
ith refgrencc
Consider the following statements W!
the Congress Socialist Party : was formed in
1> The Congress Socialist Party
January 1934.

2. Jawaharlal Nchru ally
to his sympathy for socialism.

& orrect 7
Which of the above statemcnl[ﬁ\ls/arclcand ) '
(@) Neither 1nor2 (b)) < 1
() Only2 (d)|

formally joined {his party due

Consider the following everjsjand arange them in
chronological order : .
1. Murder of Abul Fazl s;%:a
2. Death of Sheikh Mubarak
3.  Death of Faizi
4.  Death of Daniyal
Select the correct answer from the codes given below :
(@ . 3,2,1,4 ® 2,1,4,3°
() 2,431 d 2,314

Ly

Consider the following event%l{md arrange them in
chronological order : )

1. Linlithgow August Offer:: -

2. Cripps Mission arrival irfiil-nidia

3. Ramgarh Congress Sessi‘on;

4. Resignation letters of Congress Ministers

Select the correct answer from the codes given below :
@@ 4,3,1,2 (b) 3,1,4,2
(c) 4,2,3,1 d 1,3,4,2

Match List-1 with List-Il and choose the correct
answer using the codes given below the lists :

List-I L ListIn
(Book) ‘ f (Writer)
A. Hindu Polity ¢~11. D.D.Kosambi
B. The Wonder That Was<j- 2. AL. Basham
India ™
C. AnIntroduct.ion tothe '3, K.P. Jayaswal
Study of Indian History
D. The Early History of 4. Vincent Arthur
India Smith
Codes :
A B C p
@ 1 2 4 ;5
® 3 2 4
© 1 2 3 4
@ 3 2 1

52.

33,

DST &
g g o & waf § Pl
Fram i
L. Gr-raw&1934iv%m‘riwr1-1‘|1rrf%r&'wﬁm%?BP
T d
2. mmﬁm@ﬁﬁ%maﬂ%m
TR Je% 36 & § e §u |
I H A A a7
(@ FA19d2 (®) 1323
(© Faw2 d) Faa1

Frerfeiam st ot ferams ifir aur % e
At Hif

L 79e %a it ge

2. V@ ETH Ry

4. @iy
“ﬁ%ﬁ@‘l?ﬁéaﬁmﬁﬁu:

(@ 3,2,1,4 ® 2,1,4,3

(c) 2,4,3,1 d 2,3,1,4

Frfefn seamsit w fream fifvg aor 78 e
REISREIEIE

1. fomfe =1 avme v

2. Torem firem 1 v s

3. TG HEw AfEyE

4. FoEfidtE S
ﬁﬁﬁw’ﬁﬁﬁuﬂwaﬁq:

(@) 4,3,1,2 (b) 3,1,4,2
(©74,2,3,1 d 1,3,4,2

-1 =t gEft-11 & gt Hifee ok gt F = &

"1.2 E%
4 ok
%’" \ 56.

T T T T HHE ST IAC:
-1 11
(5F) (EE)
A. fegdiferd 1. S sl
B. el A st 2. TUH, SI9H
C. WEEREAIIRS 3. Fl IEEw
3t 3o fesht
D. ol et siw it 4. fific smh o
q\:z:
A B C D e
@ 1 2 4 3 e
® 3 2 4 1
(c) 1 2 3 4
@ 3 2 1 4



Which of the following Statem
ncco‘ogi(:ﬂl niche' ?
(a) [\Ilulnbcrrofsmc.cs becomes large iy
mchc‘u natural ccosystem, ip ccological
sufTicient, Tesources nre

CNIS i3 ppp true about

() Dominant species occupy CXtcnsiy
ecological niche. ¢ and broader
(c) Dominance of  single Specics
minimum i the S beccomes

. . l’csoUrCc . . . .
equitable in a habitat, distribution s
Number of species becomes sm

(d :
niche, if resources are sufficien

all in ecological

Match List-I with List-Il and choose the
answer using the codes given below the lists - correct

List-1

List-IT
(Biosphere Reserve) (State)
A. Simlipal 1. Kerala
B. Nokrek 2, Odisha
C. Agasthyamalai 3. Assam
D. Manas 4. Meghalaya
Codes :
A B C D
(a 3 1 4 2
® 1 2 4 3 o)
) 2 4 1 3 Eg’é
@ 2 4 3 1

Consider the following statements :

1. Scientific investigation depends on commitment
to practical ideals.

2. Honesty is particularly important in science.

Select the correct answer from the codes given below :

(a) Both statements 1 and 2 are incorrecl.
(b) Both statements 1 and 2 are correct.
(c) Statement 1 is correct, 2 is unpredictable.

Statement 1 is correct, 2 is not correct.

(d)

Which of the following is the correct order of pl
species from higher to lower order ?

(@) Order — Class — Phylum — Plant Kingdom
dom

ant

(b) Class — Phylum — Order - plant King
() Plant Kingdom — Phylum - Class — Order
(d) m — Order

--- L LT, g
.............................

56.

57.

58.

59.

DST.F-1-23
o e 2 s oA fr %
TR a THR 7
(@) = ryﬁfﬁmft&ﬂ%ﬂ%mﬂfiuﬁﬁﬂﬁ%aﬁ
ii&mqﬁw%ﬁrmﬁvﬁzﬁmmﬁ
raf
by OShrer smferat P e s anfefRarferef fka
Eabotai kAl
(c) afefreh smara & gemet w1 wwe e g e,
&bt sramfar 1 e = € S 3
(d) aftfafedra frra o af gage gafa € @
Tt Y e FH 8 ST # |

-1 = -1 & ARt Al sfi gft % S o
T g AT SR e I T

Feeft-I cort E-11
(Cfize RsT) )
A.Eﬁmt—ﬁmv?r 1. &=
B.?ﬂ%ﬁiﬁ 2. shfEm
C. - ITEGAETS 3. EH
D. "HH 4. TaH
T :
A B C D
(@ 3 1 4 2
® 1 2 4 3
c 2 4 | 3
Ed))mz a 3 1 %
e et o frame e :
1. (amfys st sragiies smeai & gfa g
rlpofahd
2. o fagm & $amart fav s @ a2 )
ﬁﬁqmagﬁﬁaﬂmgﬁq;
(@) THTEYT | A2 Tea &)
(b) THIFHYT | T2 WL
(c) YT TR, 2 AT
(d) FUT168R 2uETE I

frafafas § @ =59-a1 3= 9 frae w9 F 9y i
e 1 HEl w2

(@) T — =t - W9~ qIeY ST
(b) = —FE - 97 - qIeY T
(¢) 9IEY ST — | — T — Top
(d) =i - 91eY e — e — oy

Class - Plant Kingdom — Phylum = e LTINS |



61.

62.

inoist operation that took

With reference to the Anll"{'fl following

place in April 2024, talich of the
statements is/are correct 7 |

l. It 1took place int “Gadchiroli district
Maharashtra.

The operation was launched by BSF and

of

[

District Reserve Guards.
Select the correct answer from the codes given below :
(@) Neither1nor2  (b) Only2
(c) Bothland2 (‘Fi? Only |
R

With reference to “PraVaHa" software developed by
ISRO, which of the fo lgwing statements is/are

correct ?

1. It is a path-breaking feat by Vikram Sarabhai
Space Centre.

2. Initial aerodynamic design of space vehicles
requires evaluation of large pumber of

configurations. )

LN

Select the correct answer frpm the codes given below :
(a) Neither 1 nor 2 @P Only 2
(c) Bothland2 (;7\! Only 1

d

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : In April 2024, India delivered the
BrahMos Supersonic Cruise Missile to Philippines.

Reason (R)
490 kilometres.

The Missile has a range of

Select the correct answer from the codes given below -
(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are true and (R) is the correct
explanation of (A). 300

(c)
(d)

60.

61.

62.

h

T 2024 3 B Wi Rt sidum %
ﬁn%ﬁaaﬁﬁ#—r—w&muﬁ%f?? =

L. Wmﬂjﬁﬁg\mm

2 T SEH BSF (feE) w fefew o
TS BT Rkt gy oy |

19 fou e e # 2 vt v e
(@) A A 17d2 ) FFe2
© 12 P g

T T e “PraVaHa” HIRAW & w=f #
ﬁqﬁﬂ“@ﬁﬁﬁﬂ'—r—mﬁ?ﬁwm’r@%?

I e fao g siafer 32 € st swafy
R

2. iafed Smedt % wrifives arpii s 3 R

T HeE & o % g £ sravaE 2
o

Frer g e e & v s

(@) FA1Td2 (b) Faa2

(c) 13 23H (d Faal

e 21 e few e &, ot @ w = i (A) T
TG T HTT (R) FeT TATR |

AU (A) : 1A 2024 T 9T 7 et w1 7@
Fhte

T (R) : fremser i wees &rwar 490 framdiet 21

et few T e # & wE SR @%g
[m)x2

(a) (A)TeE g, g (R) WET R

(b) (A) T (R) A W E, FFg (R), (A) A ¥
T 7E] FAT S |

© (A)FRE R TEAE

(d) (A)W(R)ﬁ'«ﬁ“ﬁ%SﬁI(R),(A)ﬁwﬂ
STEAT AT © |

..............................................................
.............................................................



%
63

65.

which on€ of the following pairs

i is not corm
matched  regarding - peculiaritjeg ectly

: of R-Bﬂman ga
Project ?
() Hydropower generation

capacity
(b) pam’s length N

198 Mw

8258 metres
Irrigated area

Q)
(d)

6 lac hectares
= Garhwal
(Uttarakhand)

Location

Consider the following statements with reference to
cultivated arca of some countries of the world :

|. In comparison to USA, China and Japan, India
has highest geographical area under cultivation.

2. India’s location in tropical monsoon region
helps diversified cropping all through the year.

Which of the above statements is/are correct 7

(a) Neitherlnor2 (b) Both1and2

() Only2 (d) Only1

Match List-1 with List-Il and choose the correct

answer using the codes given below the lists :
List-1 List-11 )

(Place) (Confluencing Rivers)

Alaknanda and Pindar

Alaknanda and
Bhagirathi

Devprayag 1.
B. Rudraprayag 2,
C. Kamaprayag 3. Bhagirathi and
Bhilangna
Alaknanda and
Mandakini

D. Tehri 4.

63.

64.

65.

DST.F-1-23
) £t Rrvarsi ¥ day § Freffaa g1
Faama e gARA TE & 7
(@) wefaga wfe IRA - 198 AMETE
&
(b) oS - 825-3WiX
(© Rifmas ;_r'u - 6TERRW
@ FRafa (r - TG (SWES)
(~

fora 3 o 207 3 i A & wed F PR
oAt o R T

1. USA,a&:aﬂrwaﬁ’rgamﬁwmw
i 87 sftraa 2 1

2. mmmmﬁﬁwﬂﬁ%mm

# o we fafnfiga FEeicaTE ST |
mﬁmﬁﬂﬂq—m@mﬁ'ﬁ%?
(@) TA1THR2 r’ff:(b) 1 3t 2 A1
(c) Fad2 {i.(‘d) Fad 1

et 1 T & iR e ik g & A3 R

T 5 1 AT H T I G
sl St e

A, IR ﬂ.!_laxaaﬁmaﬁtﬁgt
B. ®XWM 2"T SreraaT I e
C. vigam j;-%mrﬁnnaﬁzﬁwm
D. fedt 4. rerewia s el
e @

A B C D
@ 2 3 1 4
b)) 4 1 2 3 g%%
0 2 4 1 3
@ 4 1 3 2



OST R
o : B
them in | 66. ﬁﬂﬁi‘fﬁaﬁaﬁ e Hiftm
66. Consider the following days and_arrange ; sqaﬁwa. . w 3#(3%%
chronological order : I
1. ey figg
. World Health Day fee
2. National Maritime Day 2 T Tt feam
3. World Athletics Day 3. v e R
4. World Red Cross Day R 4. ﬁ*&ﬁgmﬁa{q
Select the correct answer from the codes given :ﬁ%ﬁqulﬁﬁ - ﬁﬁm:
@ 2,1,3,4 @ 21,34
® 4231 ® 423
(c) 3. 2) ll4 f:': o E E
d 23,41 © 32,14 m%i
Ef d) 2,341
67.  Match List-I with :LE%:-U and choose the correct
answer using the codes given below the lists : 67. -;L-qﬁ_l F '{Eﬁ-ll B ﬁﬂf?ﬁf i 3k W FHH
List-T List-Il QR 1 ol 2wy g i -
(Award) (Recipient) Tty
A Aryabhatta . Amitabh Bachchan uiadl %
Award, 2024 A WW 2024 T )
B.  World Literary 2. Mamta G. Sagar ' j has
Prize, 2024 B. fava wifeer qweam, 2024, 7 2, warsht wmm
C. Lata Deenanath 3. Dr. Subba Rao C. &ardamETy 3. g‘-’r_ga-;m
Mangeshkar|./") Pavuluri TR, 2024 R (U
Award, 2024 ™
* D. TCSA Taieor JRaTL,—4, el YT
D. Goldman (’-:‘3 4. Alok Shukla 2024
Environmental T
Prize, 2024 ™/ -
Codes : o e B G D
A B & B myE oHa) 3 2 4 1
@ 3 2 4 s g{ ;_ j i :
® 3 2 1 4 X
€ 2 3 1 4 Ay & 2 1 3
@ 4 2 1 3 68. -1 % Ffl-11 & gAfer Afdrg ok ghrt A R
' TIQ S 1 YA 2 Het I A :
68. Match List-I with List-Il and choose the correct o1 -1
 .answer using the codes given below the lists : - ) (577)
P [ " 1’32”?3:1
;;St-l " '-ij :;S‘t-ﬂ ) A FBefem - tic i
itamin i~ isease .
A. ViaminA < 1. Beriberi B. Faf & S
B. ViaminB (" 2. Blindness c. frfme ferzm
C. ViaminC ' 3. Rickets D freE e
D. VitaminD 4. Scurvy
e
Codes : -
A B C D A B C D
@ 2 1 4 3 A i’
® 4 3 2 1 () 4 3 3
© 1 3 2 4 @ 1 3 2 4
@ 1.2 3 4 @




0.

7.

.

-,
.

MﬁtCh List-I with List-I| and ch
gnswer using the codes given below
List-I
(Canals)
_ Upper Bari Doab Canal 1. Sutlej
Girhind Canal 2. Yamung

A
B. Canal
aon Cana j
c Gure 3. Sutlej, Ravi, Beas
c )
C

Q0se the correct
the lists -
List-11

(Rivers )

. Indira Gandhi Canal 4. Ray;

G
=N

— ~—~
A &
(¥% )
—ll—t—le

C
1
3
2
2

W a N AT

—_—

{=%

N’
5

Which one of the following

(Crop— Peculiarity) is nof correctly matched ?
(a) Bihar's contribution to - 15-7%
rice production

State where rice is grown
three times in a year
Isohyets that decide -
western limit of rice
production

State with largest area
under rice production

pairs

(b) — West Bengal

(€) 100 cm

(d) — Uttar Pradesh

Consider the following statements with reference to

cotton crops :

1. Cotton is mostly a Kharif crop.

2. Cotton crop requires moderate amounts of
rainfall varying between 50 — 75 cm annually.

Which of the above statements is/are correct ?

(8) Neither Inor2 (b) Bothl and 2

(¢) Only2 (d) Only!l

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Red soil denotes the second largest
soil group of India.

Reason (R) : Red soil surrounds the black soil in the
south, east and north directions.

Select the correct answer from the codes given below :
(8) (A)is false, but (R) is true.

() Both (A) and (R) are true and (R) is the correct
explanation of (A). 2 2

(A) is true, but (R) is false.

(Db
Both (A) and (R) are true, but (R) is ot the

69.

70.

71.

72.

DST.F-1-23
@-;ﬁ@uﬁgﬁ%ﬁﬁﬁﬂaﬁttﬂ%ﬁ%ﬁﬁﬁ
ﬂq@ﬂmﬁﬂﬁmﬂﬁ'&

a1 -1
&) (fi)
A, FOh =T ST TR . wags
B. UeE T 2. Fgw
C. TeniE T 3. gaqe, T, =/
D. sheu i TEt m 4. T
&He
e B D
(a) 3 2 I<t 4
® 4 1 30N 2
@ 4 1 2 3 5k
et gt (wee — fdwan & & FE-wr =
PR@TET 8 ?
(@) et Seare & fergme - 157%
(b) ol aEE R AT — ofy=w s
&1 A 1T ST
() I I — 100@H
it Pt 3
grawi@r <t
(d) STaS I & A - @l
Waﬁm

FaE wE & e Frefaigd FwEr W faEw

Hifse

|, T EAd: @ HEA R |

9 HUME % IeTE ¥ fow afE 50 | 75 At i
ey 991 I HTGHaT e ¢ |

e 4 BT T A B

(@ Far1T&2 ®)_ | 3R 2 g

() HaA2 (d) +Hae1

A9 3 @ few o €, et & w = ifiae (A) |ur

@ﬂm(mmrﬁ%l

HATIHUT (A) : T TR, WA F G HAH 9IS YT WHE

F NI R | o

W(R):Wqﬂ,ﬁ‘ﬁwﬁaﬁw,ﬁaﬁtm

fRamsfiddigudl

(a) (AT &, Feg (R) | R

(b) (A) 3t (R) T wE & 3R (R), (A) B TR
ST FAT ¢ |

(A) TR, ﬁ?:(?'g) T R |
(A) 3T (R) el &, g (R), (A) FT @&t
=TT TET T e |

(c)
(d)

.............................
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73.

74.

75.

76.

e e e b M (e

ent
. ; n Developm
Which indicators are used In Hu:pﬂ

Index (HDI) ?

1. Income level

2. Education

3. Condition of environment
4. Life expectancy

Sclect the correct answer from the
(1) Only 1 and 4 (b) Only1,2and3
() Onlyland2 (d) Onlyl,2 and 4

codes given below :

arrange them in

. ‘ : nts and y
Consider the following eve from the earliest

correct chronological order starting
to the last activity :

1. Pradhan Mantri Gramodaya Yojana

2. Rural Employment Generation Programme
3. Prime Minister Rozgar Yojana

4. Valmiki Ambedkar Awas Yojana

Select the correct answer from the codes given
below :

(a) 4,2,1,3
(¢) 3,2,1,4 (d)

®) 2,3,4,1
1,2,3,4

Malthus argued that the population growsina
progression, while agricultural production/food
supply grows in a progression.

From the following options, choose the correct
answer to fill in the blanks :

(a) Exponential, Linear

(b) Linear, Exponential

(c) Geometric, Arithmetic

(d) Arithmetic, Geometric

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :
List-1 List-II
(Yojana Name) (Date of Launch)
A. Pradhan Mantri Awas 1. May, 2016
Yojana — Gramin
B. Jal Jeevan Mission 2.
C. Swachh Bharat 3.
Mission — Gramin
D. Pradhan Mantri 4.
Ujjwala Yojana
Codes :

October, 2014
August, 2019

November, 2016

A

(a) 4
(b) 2
3

1

73.

74.

75.

76.

Lk L T TP R R
...................
P cerrsrrmn. B e e T e R

M T i il

DST.F.1_2.
T fo quwE (@@ @) § R i
I o ST R 9 mq
l. I &=
2. e %
3. yaiEr o feafy
4. wifea sfram arafirar amg
(a) Fae | 34 (b) Fae 1,233
(c) Faa1an2 (d) Faa1,23M4
frafafas et w fem fifw @ = g
FIATRRT § Sgafiya Hife, g9 q2a 8 o ot
ﬂﬁﬁl‘fﬁﬁ: m
1. wuEgh RIECI
2. T mﬁﬂ FEFT
3. Tt ONRQE AT
4,  reHifER SR AEg AT
:n%rﬁquaﬁﬁaﬁmgﬁa:
(a) 4,2,1,3 ®) 2,3,4,1
() 3,2,1,4 (d 1,2,3,4
QTeUH 3 e fear fof saeen Wit 5 =gt
STafeh Y IJeare/@rer ATgfd T T G &

frefafaa fredt § 9, fe = 6 9ff F R a
m‘gﬁr{:
(a) g, WErE
(b) e, et
(c) i, Ggnfirca
™~

(d) i
wft-1 = -1 & gafora iforg s gfeat % i

T % 1 T o HeT I AT
g1 geft-11
(@1 919) (3T Tty
A, S aaTE deET - anfler 1, #2016
B smeﬁawﬁmgn 2. ¥EgEL 201
C. s v fawm — o 3. ¥TE, 2019
D mqaﬁzmém 4. TR, 2016
. ~
* A B r\IC D
(a) 4 3 2 l
(b) 2 3 1 4
(c) 3 4 1 2
(d 1 2 3 4 .
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7.

80.

Which of the following
Constitution of India ?

|, The President shall not be g mem
the Houses of the Parliamen,

is/are Stated in  (he

ber of either of

5. The Parliament shall consist
and both Houses. of the President

Select the correct answer from the codes given bel
ow :

(a) Only 2
(©) Only 1

Consider the following statements

€ ituti .
ﬁﬁmcg;iﬁ an to the Constitution of India can be
1. Lok Sabha 2.  Rajya Sabha
3. State Legislatures 4.  President of India
Which of the above statements is/are correct 2
(a) land2 (b) 1,2and3
(c) 2,3and4 (d) Only1

(®) Bothland2 Y&

(d) Neither 1 nory ®

Which of the following are the functions of the

Election Commissioner of India ?

1. Conduct of elections for the posts of the Speaker
and the Deputy Speaker of the Lok Sabha and
Deputy Chairman of the Rajya Sabha.

2. Conduct of elections of the
Corporations and Municipalities.

Municipal

3. Deciding on all doubts and disputes arising out of
the above elections.

Select the correct answer from the codes given below
(@ land3 (b) 2and3
(¢) land2 (d) None of the above

Which one of the following is nof correctly
matched ?

(a) Dantwala Commitiee  — Rural Credit

(b) G.V.K. Rao — Planning at the
Committee Block Level

(c) Ashok Mehta _ Panchayati Raj
Committee Institutions

(d) Santhanam Committee — panchayati Raj

Finances

Which one of the following is nof correctly
matched ?

(a) Anicle 154 - Executive Authority of the
Governor

Office of the Governor

Term of the Governor

(b) Article 153 -
(c) Anicle 156 -

________________
................................

80.

7.

78.

79.

DST.F-1-23
méwﬁmﬂﬁﬁn%ﬁaﬂﬁﬁmaﬁa%/%?
1. Wﬁm%ﬁ@«ﬂmmmqﬁﬁm
2. <ree gt it et & firer
ﬁquzﬁﬁaﬁmﬁﬁm
(@) FE2 (b) 1323
) Faal (d) TAA1TE2

ﬁqﬁiﬁgﬁmmﬁﬂﬂm:

m@uﬁﬁmﬁﬁéﬁﬁmaﬁwmﬁmm

qFATR

|, SER@TET 2. U9 89T 50

3. Usd fauE-sEEl & 4. ¥ % Trgafd g

awgﬁﬁﬂﬂﬂ-ﬁr{ﬁmaﬁ%/%?

() 132 f~ (b) 1,233

© 2394y, @ @1 g

W%W%ﬁ%ﬁmﬁﬁﬁ-ﬂm%?

~

1. r—hzﬁw%maﬁtmwmm%;
e 3 et & fere faataw wEmT |

5w urfErelt o mm fmd & R fatas
AT |

3. mm%wwtﬁﬁaﬂtﬁaﬁm
fof= |

LM
3 g e Hf wd s g
(a) 133 f:;! (b) 233
(c) 132 (f::ll (d) Ivd T F Fg T

freferfaa & @ F-a1 o ol gafaa 7@ 8 2

(a) TaaTeT wfufa —  gvefior soT
(b) ShAF maaffs - veswwFEsE
(c) IOFdearaffa - d=md US HRATd
(d) T=wwhfa ~  qargdt sy fam
lrj\‘}
frafafiea # & %7 & v i 7@ 2 2
(a) arﬁ‘szt%! —  TSUITH T SahRI W
(b) == 153! - TRUE EIGE
™
(c) =T 156 - U=AUA Y werat (2H)
(d) 7T 155 — TY9TS &l BEAT
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83.

84.

85.

List-I List-IT

(Economist/Author) (Book)

A. Myrdal 1. Economic Theory and
Under-developed Regions

B. Hirschman 2. The Strategy of Economic
Development

C. Kaldor 3. Strategic Factors in
Economi¢ Development

D. Adam Smith 4. The Wealth'of Nations

Codes :

A B ¢ p I

@ 2 3 1 4 QJ

® 1 2 3 4 g

d 3 2 1 4

Write in descending order the following States on the | 85.

basis of their population as per Census, 2011 -

1. Bihar 2. Andhra Pradesh

3. Uttar Pradesh 4. West Bengal

Choose the correct answer with {he help of the

following codes :

(@ 1,3,2,4 (b) 3,4,1,2

(¢ 31,42 @ 1342

22t

COITCCI
Match List-I with List-1l and choos€ the

answer using the codes given below the lists ©
List-1 List-IT |
A. Human 1. Iutematlonléiund
Development Report quetﬂlfqy tions
B. World Economic 2. United Na t
Outlook Environmen
Prqgra:nme_
C. World Investment 3. United Nation$
Report Development
Unied Nati
D. Emissi . Unitéd Nations
Eg;(s)ﬁous Gp 4 Cgllfference on Trade
und‘xﬁevelopment
Codes : ~
A B C D T
(@ 3 4 1 2 N
® 3 1 4 2
© 2 3 4 1 Eﬁ
(d 1 2 3 4 ot

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) The concept of Sustainable

Development was popularised by the Brundtland

Report.

Reason (R) : The Brundtland Report is also known

as “ The Limits to Growth™.

Select the correct answer from the codes given below :

(a) (A)is false, but (R) is true. LA ’

(b) Both (A) and (R) are truepbut (R) is mot the
correct explanation of (A). <

(c) (A)is true, but (R) is false,

(d) Both (A) and (R) are true a@(R) is the correct

The

explanation of (A).

following lists [ and II s{:
Economists/Authors and their books respectively.
Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

the names of

82.

83.

84.

1.

1 2 T & i A e g 3y
T2 T T4 3 Hell I AT ‘

eI w11
A TrEfaEm el | s TRy
B. form anfife gfeaior 2 T T T
C. fufemfmd 3. e e R andn,
D. = s RdiE 4 T A Fere vy

g

6T :

A B C D
(@ 3 4 1 2
Eb)) 31 4 2
c 2 3 4 1 BiE
@ 1 2 3 4 ﬁgﬁ
A & ot R ¥, Rt & o 91 v (A) 7
THUH IO (R) FRT TR |
AfrFeT (A) : waa fram 6 gron 7 sz fid
EQy AT T |

T (R) : 5ieeis fad =t “fasprg &t dimail 3 =y
oft ST ST 2 )

F Ru e e & & vt s gfi

(@) (AT e, feg R) FE R

(b) (A) T (R) 3T W& &, g (R), (A) F &
AT TgT FAT 2 |

(© (AT FgR) TR

(d) (A) 997 (R) 3HT T § 3K (R), (A) F @
T AT & |

fr=forfaa it 1 3 1 selmiEiees & am a
STl (R 1 S QAT € | gl g
gafera it 3 gfet & Fi9 o e e %y s
Hﬁmﬂﬁq:

w1 -1

(efmEAEE)  (TFF)

A. Tga 1. AT W U Aeeaas i
B. f&itm 2. TS IHE AT STATIE
C. Feet 3. Bl aed 7 s Saaw

D. tenfEy 4. T dew IE I

&
A B C D
@ 2 3 1 4
® 1 2 3 4
€@ 2 1 3 4
@ 3 2 1 4
2011 Y FIVET & ATER ST TTEEIT & AN
Wﬁﬂaﬁ’eﬁmﬁﬁﬁfﬁt{:
1. fm@r 2. AR
3. SN 4. ufmsma
Prerferfiaa e it e & 379 v e g
@ 1,3,2,4 (b) 3.4,1,2
& 31,42 @ 1,3,42



87.

88.

89,

According to the Economic Survey

Aecal policy response did the Geye o 22 = 23, what

- undertake in response to the aggr OvVemment of India

eruptions ? avated globa] supply
1. Decreasing food and fertiliser subsidj
2. Increasing taxes on fuel and iy 3=
3. Reducing taxes on fuel ap

products
Select the correct answer from the codes
(a) Only2 (b) Only3
(c) Onlyl (d) None of the abo
Match List-1 with List-Il and choog v
answer using the codes given below meiisﬁé correct
List-I s List-T1
Social Securi
progranm) otk
Pradhan Mantri Shram 1. Beneficjary®
Yogi Maan-Dhan Yojana choice lary’s
Pradhan Mantri Jeevan
Jyoti Bima Yojana % :Srsrr_l-ofnfhoo
Pl:adhan Mantri Suraksha 3. %436 pe
Bima Yojana DET year
D. Atal Pension Yojana 4,
Codes :

A B

(a 2 4
®) 2 3
) 3 2
@ 1 2 4
Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Development is being defined as
improving living standards and welfare.
Reason (R) : Growth in per capita income is not a
sufficient measure of development.
Select the correct answer from the codes given
below :
(a) (A)is false, but (R) is true.
() Both (A) and (R) are true and (R) is the correct
explanation of (A).
(A) is true, but (R) is false.
Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

Armange the following schemes launched by the
Government of India in chronological order and
choose the correct answer from the codes given
below :

1. Integrated Rural Development Programme

2. Swamjayanti Gram Swarozgar Yojana

3.  National Rural Employment Guarantee Act

4, Pradhan Mantri Jan-Dhan Yojana

Codes :

@ 3,4,1,2

ported products
d cenﬂin i_mPoncd

given below -

o w ¥

T 20 per year

D
3 0]
1 O}
4

u.—-.b..—-n

(c)
(d)

86.

87.

88.

89.

DST.F-1-23

2022 — 23 ¥ JEN, Fga Afas
=1 Wi 39T 7

| e aiv 3E wfeRE I F

2. guqaﬂtmﬁiﬁmﬁwaﬂm

3 gmaﬂtgﬁnmﬁﬁmﬁﬂaﬂmm

3 Rro e gz @ & wH ICIAY:
(a) 2 (b) 3
© ! (d) ST H A IS T
@-Iﬁgﬁl—llﬁgﬂ%ﬁﬁﬁuaﬁtqﬁﬁ%ﬁﬁq
an{ﬁ?fmﬁ'mﬁﬂﬁﬁww:
g1 -1
W'ﬁ?&ﬂﬂﬂ#ﬁq) gﬂﬁwﬂ/ﬁ?mﬂm
o gTer)
A. quih s AT T 1. R emied
AT EASIR LS
B, A S st S 2. €55 -3200
AT sfd =E
C. wurHEt geer s 3. razeufaad
el
D. e UTA AT 4. T20ufqad
®e : c
. B D
(a) g,_ 4 1 3
® 2 3 4 1 —
y B3¢ 2 1 4 20
E;) a2 3 4 é’%ﬁi
ﬁﬁl@?ﬁﬂﬂqiﬁﬁﬁ@aﬁaﬁﬁﬂnm
gg’taﬁmm)mw%l
SRR (A) : Fprd i Sfiee & AR Fea § gfg
¥ wq i gfonfia TSR

HROT (R) : T = g § I fwrw i @iw
T2

ﬁﬁt{wizﬁﬁuﬁmgﬁq:

@) (A)TeRE, g (R) TR

(b) (A) AT (R) THI &&l & 3 (R), (A) A We
mm%l

(© (A wER g R) TET R

(d) (A) @ (R) Td g, B (R), (A) &1 Tl

TEAT g1 Tl € |
NI BN g e o Fefafaa dsere S
TR i saftud g st = Ry g 4 9w
m .

1. Hﬂf:‘clﬁmﬂ?wﬁa;mﬂﬁm

2. Vi gl O TSR AT

3. Uy urer e e arfufram
4, TUEHH TH-89 FisHT

e

(a) 3,4,1,2 b) 1,2,3,4
() 4,3,1,2 @ 2,3,4,1



0

90.

91.

92.

93.

94.

Wh uCereal Yield" refer to? 90.
at does the term “Cerea 4 per unit area

1. The amount of cereal crops produced P
of harvested land . :

2. The total production of cereal crops 1 2 given
coun ) ;

Select th:-)c;orrect answer from the codes given below :

(a) Neither1nor2 (b) Bothland2

(c) Only2 (&) Only]™

Which of the following statements isitrue regarding | 91.

the trend of unemployment rate ir;f;Indm ben:;een

July-September, 2019 and July-SCPte(fg?er’ 20227

1. Itremained the same. ~J

2. Itdeclined. -

Select the correct answer from the codes given below :

(a) Both 1 and 2 are false.

(b) 2istrue and | is false.

(c) Both 1 and 2 are true.

(d) 1is true and 2 is false.

Who prepares/publishes the Global Multidimensional

Poverty Index (MPI) report ? 92,

1. World Bank and International Monetary Fund
(IMF)

2. Oxford Poverty and World Heal{t_i,‘ Organisation
(WHO) 3,

3. Oxford Poverty and Human. Development
Initiative (OPHI) o

4. United Nations Development-! Programme
(UNDP)

Select the correct answer from the codes given

below :

(a) Only4 (b) 2and4 g&'@j

(c) 3and4 (d 1and4 93.

Arrange the following schemes launched by the

Government of India in chronological order and

choose the correct answer from the codes given

below : I

1. Swachh Bharat Mission b,

2. Pradhan Mantri Kaushal Vikas Ybjana

3. Pradhan Mantri Garib Kalyan Yojana

4. Pradhan Mantri Mahila Shakti Kendra Scheme

Codes : i

(a 4,2,1,3 (b) 2,1,4,3

(c) 3,1,2,4 @ 1,2,3,4 04

What does the Intergovernmental Pane] on Climate .

Change (IPCC) emphasize regarding reductions in

greenhouse gas (GHG) emission ?

1. Gradual and limited reductions are enough,

2. Deep, rapid and sustained reductions are essential,

Select the correct answer from the codes given below :

(a) Neither I nor2 (b) Bothland?2

(€ Only2 .. (@) Only1

L ] 24 -

DST.Fq

“HAT 39T Yo T ATqd TR ?

Lo = mw oft & it s & F sanfy
FHET AT

2. %@ﬁﬁqnq%wﬁmmm@mm

ﬁﬁ'{ﬂnﬁﬁﬁaﬁmgﬁq:

(@ Far13d2 (b) 13 23Ht

(© FFw2 (d) Fa I

F-fa, 2019 it md-fr, 2022
wﬁ%ﬁmaﬁm%ﬁuﬁﬁnﬁﬁa
SH-ATFE g 2 9

1. wferd

2. W
ﬁ%mﬁﬁﬁmmﬁ: {
(@ 13R23F e

() 2u@tgM1meae

€ 13r23FgdE &

(d 1+9€rgsi2mEad) fg'%i
I sgemrandt Wi qEEE (e el
ARSI FEaT & 7 e

1. T3 ¥ o sriefia g (s )

2. RIS il 3 form waree e (seeg ua.
3. HTFIRIS Tl 3 AHe forahre geer (it u.an
4. 97 g, forevr srdoem (g e <)

A few e 2 @ wdt swr i

(a) FawT4 () 234

(c) 334 (d) 134

WA &R g0 90 Y 18 affag deanei
Wﬁmﬁﬂmiﬁﬁqaﬁtﬁﬁqueﬁﬁt
mgﬁq:

1. <3 vrd fivm
WA HeTeT faerg e
TUEE T T AT
wuTwEAT wfger it 2 Qe

92]:‘“!-".“

(@) 4,2,1,3 ®) 2,1,4,3
() 3,1,2,4 (d) 1,2,3,4

Hiaeew 4 (Shtuasft) s & wdt ¥ ey
SAATY TR T A-waw e (armd ) f
WS AT ?

1. i e s vyt 8

2. el ot 3R Pt et sawas ¥

e e e e # & wEt Imgfiu:
(@) TA1TA2 (b) 13R23E
() had2 (d) Faa1



>

96.

97.

98.

which of l?lelfollowing. is the corre
phases of Biotic succession 7

(@)
®)
©
@

Sequence of

Ecesis — Migration — Stabilisation — Reacti

Ecesis — Migration — Reactioy — Stabilism!arl
Migration — Ecesis — Reactiop — Stal.uilis.at]izrj
Migration — Reaction — Stabilisation — Eccsi:

Given below are two statements, one j
. L] ]5 l
Assertion (A) and the other as Reason ®) abelled as

Assertion (A) : Relative humidity decreas :
increasing air temperature. es with

Reason (R) : Absolute humidity increases wj th
increasing evaporation. w
Select the correct answer from the codes given below :
(@ (A)is false, but (R) is true. .

() Both (A) and (R) are true, but (R) is nor the

correct explanation of (A).
(A) is true, but (R) is false.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

(©
(@

Which one of the following is correctly matched ?

(a) Pycnocline — Sea water density

(b) Ecocline — Biodiversity

(c) Halocline — Sea water temperature
(d) Thermocline — Air temperature

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

List-I List-II
A. Planting Hearth 1. Hungary
B.” Cryophyte Steppe 2. Adolf Engler
C. World Floral Regions 3. C.O.Sauer
D. Puszta Grassland 4. Arctic Tundra
Codes :

A B C D

3 4 2 1
(b) 4 3 2 1
© 1 2 3 4 E%%
d 3 4 i 9 &

...................................

95.

96.

97.

98.

N DST.F-1-23

ﬁmﬁ—rﬁaaﬁﬁa%%réﬁmagmaﬁmmﬂm
TAFAR? -

s

(a) m_ﬁ?—ﬁw-wﬁm
(b) STregTa — ek — ufafsran — Rt
(©) AT — FATeT — ST — et
() e — sl - Rl — Arer

4y 3 o R e &, Foml & o o afira (A) O
@aﬁm(R)mw%l
W(A):Gﬁﬁ;’*ﬂ*maﬂ*waﬁ*
pipgeraib !
mm):mﬂm’@iﬁqﬁg%mﬁt&amﬁq&
BA R rJ

A g e e & G S g

@) (A)TEEE, g (R)FAE

b (A) 3T ) 3w E fEg ®), () FE
e T A s |

(A) TR, g (R) TR 81

(A) 3T (R) Bt =& & 3 (R), (A) T W&l
AT FAT & |

(©)
(@

rferiaa § @ 0 FA gAfREa 8 2
(a) TS L AT S e
o) e O R
(cj LRICHIE] c\—l BB REIELIC]
(d) AT

£
— grg &1 daEH
-1 i geft-1n & gafera Afir o gl & =
T % T T R EE I A
qt-1 | -11
A. JrETIqoT STt Sy
B. FEMHEE &l TR WTeR
C. fava® yofta &= .37, g
D. &S =T ATH R g

& W o

e &

(=%

...............................................
------------------------------




&

ich is|99.
99. The content of computery memory whic

non-volatile, even when thd‘f:j?wer goes offis :
f

(a) ROM (b)y REM

(c) RAM (dy! None of the above
r

o .
100. Which of the following is a correct relationship |44
between Fahrenheit (°F) and Celsius (°C) degrees ?

(@) °C=°F-273-15 (b) °C=%°F+32

© °F=°C-27315 (d) °F=%°C+32

. 101.
101. Which of the following statements is not

true ? L

(a) Nucleus of a cell doesl;l:)t play a role in cellular
reproduction. &

(b) Chromosomes are c‘g&posed of DNA and
Protein. s

(c) Functional segment of DNA is called genes.

(d) Chromosomes contain  information for
inheritance. 102.

102. Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : COI, SO2 and NO2 gases get
dissolved in rain water and produce acid rain.
Reason (R) : Atmospheric 'ff is polluted due to high
concentration of gases like:earbon dioxide, sulphur
dioxide and oxides of nitrogen
Select the correct answer froif)}?c codes given below :
(@) (A)is false, but (R) is true.
(b) Both (A) and (R) are true and (R) is the correct

explanation of (A),

(c) (A)is true, but (R) is false.
(d) Both (A) and (R) are true, but (R) is not the

DSTF.y,

FEEC IR 1 7 PE-AT W R S e
B T SraadTefier e 2 2

(a) ROM (b) REM

(©) RAM (d) STRATRE 38
Freffta & & S witerse (OF) T vy o
faft F g o dew emtar & 2

(a) °C=°F-273-15 (b) °C=%°F+32

(€) °F=°C-27315 (d) °F=%°C+32

Feffer d @ S T

() e =ifirw &1 =z S s/
feeradi a2

(b) FHERAEL T IR AIL

(©) AWT N s TR T FaE

() SR HafE 3 o geed dim @ )
e < e fow e, Rl & w9 atfiem (A) 7

FHUF FHOT (R) FE1TIR |

s (A) : CO,, sowaﬁwozﬂﬁaﬁmﬁg
STt & 3R ety aut S Wt 3 |

I (R) : FTH STEIHIES, HeHt TRITH0ES o
AGSA % raTse et A6 A 3e7 wizar ¥ w5
A AT W Bt 3 )
ﬁﬁqm@ﬁﬂaﬁrmgﬁq:

@ (AT, g R) TR

(®) (&) 3R (R) I 7 ¥ 3R (R), (A) H ¥
T FEAT R |

© (AR, g R) e
(@ (A) 3 (R) 3T W 2, Frg (R), (A) 3

correct explanation of (A). SATEAT TE A R |
103. Which one of the following groups have only input 103. Frefeiaa q@ T ¥ e Fae I JTR (5
devices ? %HTEH)% ?
(a) Mouse, Keyboard, Projector () wrg, %T-ﬁ:«.‘,ﬁ’lﬁ’qzt
(b) Mouse, Keyboard, Printer (b) TH, HarE, firex e
(c) Mouse, Keyboard, Scanner i (¢) WEH, F-AE, Bt ok
(4) Mouse, Keyboard, Monitor | B | (@) e A, e .
“og e
e ————
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[ DST.F-1-23
104. Consider the following statements vy, reference 1o |104. T SR F T q Fordt T faEm

early trade : o o, fFrefafiaa

) ':nh::::n:“ Izdrit:ercmes of umerous river-ports in | e v g @ A-a=e  wed frer € |

2. There were large entrepots of g00ds and e 9. ol umm AT FaITRM A |

Which of the above statements is/are correcr7 e i & F-EA F g 827 )

(a) Neither 1 nor 2 () Both | and 2 . (@ FAWMLITA2 rﬁ?) 1 32 2t

(c) Only2 (d) Only1 () Fa2 (@ ¥l

<h

_d
105. Armange the following Sen rulers of Bengal in 105T|_ ;"; & . N ;
1 '__’______alnaﬁﬂiélﬁﬂil EIIHEM 31[€|éla|am;qt5;;ut

ascending chronological order :

saftya FIT :
1. Ballal Sen
|, e o
2. Lakshman Sen EyE -
T EYE
3. Hemant Sen & 2. @&HT El%‘i
4. Vijaya Sen 3, wEaeA
Select the correct answer from the codes given below : 4. FremEw \
(@ 2,1,4,3 ®) 4,3,2,1 i Ry e # & v IR AT
(c) 3,4,1,2 (@ 1,2,3,4 (a) 2,1,4,3 {_(9) 4,3,2,1
() 3,4,1,2 d) 1,2,3,4
106. Consider the following statements with reference to (:]
Bairam Khan 106, At ¥ vt § Pt st ¢ fem Hift
1.  Akbar gave the title of Khan-i-Khana to Bairam L 3 Ao @t Y @E-EET R I A
. IO T & & P aug @t it
2. This title was not given at the time of . = & asfi & w9 F
appointment of Bairam Khan as Vazir of ﬁgﬁ-ﬁ%m:&ﬂ:ﬂn@
Empire. I 3 F FH-AA FAT WE /R ?
Which of the above statements is/are correct ? (@) FA1TE2 ®) 132 3E
(a) Neither 1 nor 2 (b) Both1 and2 © ¥ae2 Lid) e
(c) Only?2 (d) Onlyl i;}
| 107. ot Yl w fewm S T
107. Consider the following Peshwas and arrange them in ~] - T A
ascending chronological order : FHTTHI et 5|5Iri:’1‘l“‘§{,
I. Raghunath Rao (Raghoba) I T O ()
2. Balaji Baji Rao 2. S A
3. Narayan Rao 3. AREYV T
4. Balaji Vishwanath 4, St fqgamy
Select the correct answer from the codes given ﬁﬁ.’qm{eﬁ ﬁr‘aﬁmgﬁq;
b .
elow : 1 (@) 3,4,1,2 ®) 4,2,3,1
®3,4,1,2 © 423 © 1,3,2,4 d
e () 1,3,2,4 W), L2t ot @ 1234



G

108.

109.

110.

cl
Match List-l with List-II and choosc‘lhc. corre
answer using the codes given below the lists -
List-1 List-11
(Essayist) (Treatisc)
A. Devana Bhatta 1. Dan Sagar
B. Hemadri 2. anshnrMudhav
C. Madhvacharya 3, Chalurvargd
Chintamant
D. Ballal Sen 1'%, smriti Chandrike
Codes : €T
£
A B C D
=
(a) 1 4 2 l3 [—il%%
Ot
by 2 4 ] 3
() 4 3 2 |
(d 3 2 1 4

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Asscrtion (A) : Tu;rlush invasion on India was
successful. =1

Reason (R) : There WTS no political unity in North

[ndia.
Fad

Select the correct answer from the codes given below :
(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(c)
(d)

| F4
Consider the following statements regarding Voice of

Global South Summit (VOGSS) :

1. India recently concluded its 27 Voice of
Global South Supﬁ“pit.

The term Global South is related to developed
countries.

Which of the above statements is/are correct ?

(a)
(b)

S

Neither | nor 2
Only 2
Both | and 2

DST.F-1-23

o8, -1 F geh- @ g AR ST R

109.

110.

.............................................................................

g g iz 1 A A EE IW
el gt-11
(FrAgaR) ()

A, dE g I FHEW

B. Iy 2. SUECATES

C. aruarETd 3. g

D. TeeE s, wfaatzn

Eﬁ?.’:

A B C D

@ 1 4 2 3

® 2 4 1 3

@ 4 3 2 |

@ 3 2 1 4

13 2 T Fre e ¥, R @ e T SRR (A) T
& I FHRT (R) T AT E |

I (A) : WA TCGRT SATHA TR §HT |
T (R) : 39T 9T 3 T Gt 78 o | E&%

Hi e e e 7 & wEY gAY : s

@ (A)TEae FgE EEe

(b) (A) T9T (R) 3H1 @l € 3 (R), (A) F T
ST H § |

© (AT EgER) TR

(A) 71 (R) SHi w&l €, v (R), (A) it @@
ST 7ET Ll @ |

(d)

digE 3T e arey give (@ e sh o) F ey
¥ frafafEs ww w far i

I YRGB @ H 6 R e I e
ey gfte g9= fFarg |

2. e WY HEEd: faewha 3ot @ wefta
I T | FH-A/" FYH E 23 ?

(@ Tar1ad2

(b) FaE2

1 37T 2 €A
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112.

113.

114.

Which one of the following pairs  (Alumini
Plant — State) is nof correctly malched ? ;

(a) Belagavi

(b) Alupuram (Alwaye)
(c¢) Hirakud

(@) Muri

~ Kamataka
= Kerala
~ Odisha

Chhauisgarh

Which of the following pairs (National Park —
State/Union Territory) is nor carrectly matched ?

(a) PinValley -
(b) Rajaji -
(c) Simlipal -

(d) Bandipur .

Jammu and Kashmir
Uttarakhand

Odisha

Kamataka

Given below are two siatements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : The Himalayas are still rising,

Reason (R) : The Indian tectonic plate lS colliding

with the Eurasian plate.

Sclect the correct answer from the codes given below :

(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true, but (R) is nor the
correct explanation of (A).

(c) (A)is true, but (R) is false.

(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

List-1 List-IT g%%
(Coal Resources) (States)

Hutar Madhya Pradesh

Ib River Chhattisgarh

Tatapani — Odisha
Jharkhand

Ramkola

o0 w»
oW o=

Umaria
Codes :

(a)

DST.F-1-23

P g Qe R
A e g TR 7

(@) e - FAEE

(b) G () -~

(c) ®UFs il

(d) T - T
Frerferfaa gt - Jearia-awT ) 7 3
- e TE 7

@ ¥R CEE T

(b) TS E\FTIES

© R Cshfem

@ =AE -

Yy & Fw Rume E, fei @ w1 SRR (A) T

@ﬁm(R}mw%l

arfereera (A) : e snft st S ET TR

T (R) : qﬁiﬁu%&é\ﬁaﬂé&'{tﬁm—‘l@zﬁmlﬁ
2l

ﬁﬁqwizﬁﬂﬂﬁpmgﬁq

() (A)TEEE, éR)'szﬂ’%l

®) (A) 3 R) g 7 3§, g (R), (A) R =
ST 7E FATE | —

() (AT FqE)T=Eas| E’]‘gﬁ

(d) (A) 3T (R) SH " & 3 (R), (A) F wE
ST AT R |

. -1 -1 | gefea S o gied & e kg

weft-1 11
(@Fgen ver) LW =)

A T 1 mewm

B. @ N2 o

& mqﬁﬁ—uum‘étln 3. sfsm

D. I-quﬂn ™~ 4 m—g

e
A B C D

(@ 2 l 3 4

() 3 2 4 |

(c) 4 2 3 1

(d 4 3 2 1

.........................................

..............................
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DST.F-1.23
B - =
%;. Match List- with List-Il and choose the correct (115 @-Iﬂ@-ll%ﬂﬁ%ﬂ *If:?ﬂ{.:"ﬂ"(@m %Vﬁ?f’q
answer using the codes miven below the lists : T e T WA F Gl I ;
g the codes give -1
List-1 ustll B2 il e
A. Cooperative Federalism 1. K.C. Wheare = £ mw . S .
B. Bargaining Federalism 2. IvorJennings B. HRREm dgae 2. AR "
C. Quasi Federalism 3. Moris-Jones C. i HTaT 3 ﬁfﬁﬂ-ﬂ}i{?ﬁ
D. Federalism with 4, Granville Austin D. &= H ygf % dthe
Centralising Tendency EISIKEEE
Codes : T '
@ 2 1 4 3 @ 2 1 4 3
® 2 4 3 | b 2 4 3 1
(c) 3 2 4 1 1
@ 4 3 1 2 ® 3 2 4
in . @ 4 3 1 2 ‘
116. Which one of the following is nor a level in the| ) o o v ey arfefir vy appvifira Fr-e i G=mareht
three-tier Panchayati Raj réj:ummended by Balwant i frefafaa g a aﬁqm@m?ﬁ% ?
Rai Mehta Committee ? .,! (@) T =R
(a) Gram Panchayat f\j (b) Genad ghifRr
(b) Panchayat Samiti T (ck =19 99149
(¢} NyayaPanchayat (d) e veme

(d) Zilla Panchayat 117. ST 3k Eﬂﬂﬂ?ﬁ sfffram, 2013 ¥ STER,
117.  According to the Lokpal and Lokayuktas Act, 2013 GIEAIGEG ﬁgﬁﬁ Tafd g0 OF 999 gifd

the Lokpal would be appointed by the President after et s F& ¥ =@ 6 sof, fEh ooy yam
obtaining the recommendations of a Sclection T S T Srad o S ¥ o, frefstas
Committee, with the Pnme Minister as chairperson R & - ’

and consisting, among others, of the following :

1. Chief Justice of India'or'a Supreme Court Judge L W@ & e 2w @ 35 g Amiike

nominated by him l" FETH AR I i AT
2. Chairman of the Rajy;i‘%ablm 2. TS OvTSF avfa
3. Speaker of the Lok Sal:ﬁfa o Sat 3. oive T oTegE @%%
4.  Leader of Opposition in the Lok Sabha =
Select the correct answer fro'r:ﬁ'{hc codes given below : jﬂ% ﬁi: gﬁﬁaﬁ:;::;ﬁq
(a) 2,3and4 (b) I,2and3 @ 2,334 ® 1.23%03
(c) 1,3and4 (d) [,2,3and4 © I,33¢’T‘(¢1 @ 1‘7 334
118. Match the _ A.mendmcnts with their year of 118, HYET o1 3 Frata ¥ ad & fremw e
implementation ;
A. 42" Amendment 1. 1985 A. 1985
B. 52" Amendment 2. 201] B. 2011
C. 86" Amendment | .3. 1976 C. 1976
D. 96" Amendment [-.4. 2002 D. 2002
Select the correct answer frdn) the codes given below : "
A B Cc b ﬁﬁq:q%n W?mgﬁq
@ 4 3 2 |y @ 4 3 2
(b) 2 1 3 4=l by 2 1 3 4
(C) 3 1 4 2 i% 3 1 4 2
SR, .| SO DU S . 1 2 3 4

..................................................
......................
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119.

120.

121.

122,

With reference to “Nepal — India International

Sanskrit Conclave —2024**, which of the following
statements is/are correct ?

1. It was held at New Delhj.

2.  This three-day conclave was organised by the

Niti Anusandhan Pratisthan.
Select the correct answer from the codes given below :
(a) Neither 1 nor 2 (b) Only2
() Both1and?2 (d) Only1
With
Mission”’

reference to ‘‘Lunar Polar

(LUPEX), which of the
statements is/are correct ?

Exploration
following

1.  This is an India-Japan partnership for their
joint moon mission which shall be launched in
the future.

2. JAXA is responsible for developing the lander

for the mission, while ISRO is handling the
rover and launch vehicle.

Select the correct answer from the codes given below :
(a) Neither 1 nor2 (b) Only2
(c) Bothland2 (d) Only 1

With reference to ‘‘Guidelines for Elimination of
Corporal Punishment”* (GECP), which of the
following statements is/are correct ?

1. The Tamil Nadu School Education Department
issued these guidelines on 26h April, 2024.

2. These guidelines are focussed on safeguarding
the physical and mental well-being of students.

Select the correct answer from the codes given below :
i 2 b) Only?2

(a) Neither 1 nor (b) E]%%

(c) Both1and2 (d) Onlyl =%

With reference to ““FLY91"’ which of the following
statements is/are correct ?

I. Itis a newly launched airline in India.

2. Its inaugural flight took off from Manohar
International Airport on 18th March, 2024.

Select the correct answer from the codes given below
(a) Neither 1 nor 2 (b) Only2
(c) Both1and2 (d) Only!l

119.

DST.F-1-23
e — M iU dEEd weed — 2024 *
e i Fraffae A PR T TR ?

1 s e o s fRar mar A |

2 ug dF-fReada wwee A FFE S FW
s frarmar At

A R g A 9w I o

@ FRIAAL ) ¥
© 1 @ ¥l

120. [@@q;ﬁmm@m%wﬁﬁ

121.

122.

BT & A AR FR TR 3 2
1. ﬁm_mﬂ%mﬁgﬁwﬁm%faﬁ
ardiarty &, i siferssy 3 wfer fon Sma |

5 JAXA P ¥ f Set Rrefim w0 % feg
frier 2, sTafh ISRO =T 3t T e

E R R
3 e 2
(a) :aﬁl:ﬁ?‘f (b) Had2
(c) laﬁtzaﬁ‘ﬁz (d Faal

Jucs

i €8 m‘% e Rl (GECP) F =M

i rrferfige o @ Br-aVA TR A 3R 2

1. 2631, 2024 F Al e fren w3 A
feram-fdar <t fem

2. ¥ fem-fy ol & wrifes o weites @
Hr TR HET |

ﬁﬁqﬂ!i&?ﬁﬁuﬁmgﬁﬁ:

(a) ??ﬁl’f'ﬁﬁ%ﬂ (b) Fa=A2

(c) 1&1‘!127::‘1:1‘1é (d) Faa 1
"if'

ELYo1) ¥ Tl § Pl & &
FAHR FoU TR 2

L. azmﬁs‘fi%‘ﬁné?%ww%l
2. 3EH Ugell ISH I8 WM, 2024 W TEIEC

ST gas TR A CEE |
:ﬁ%ﬁ‘!‘miﬁéﬁﬁﬁﬂmﬁﬁ‘{:
(@ TWM1TE2 b Fa=2
(©) 13Mm23Et d) Faer1




DST.F-1.23
123. @ CHA P S offeE IH W T e y

123.  The only vein that carries oxygenalted blood i? - et 2
(@) Cystic vein (b) Pulmonary vein @ fifesfm (b) v R
(¢) Hepatic Portal vein (d) Cardiac vein o (c) FRwdEafim (d) Fifeas fra H
e 8:?:?‘95 is the most common disorder associate 124. Wsﬁﬁ;@a@ﬁmmi’mm% J
. p J
(@) Gallbladder LN () Kidney (@) ! ol qﬁa |
(C) Pancreas I;;:(d) Liver ((C) LRI a (d) m “
125. graaﬁaﬁﬁrg-wmwﬁ*mmmﬂ '

125.  The recent global paufe Hiuring COVID-19 pandemic

was caused due to ; FRE:

(@) HSNI (\(b) SARS-CoV-1 (a) HSNI (b) SARS-CoV-l

() MERS-CoV-2 (d) SARS-CoV-2! () MERS-CoV-2 (d) SARS-CoV-2
126. Milk is an example of : 126. @mﬁmm%?

(a) - Sol (b) Foam (@) @ (b) E%%

(c) Emulsion (d) Aerosol (c) eI (d) wWHEa @3
127. The formula of baking soda is : 127. AFTEETFEIR:

(8) Na,CO;, (b) KHCO;, (a) Na,CO; (b) KHCO;

(c) NaHCO, rLQ(d) K,CO,4 Asy NaHCO, (d) K;CO4
128. CPRstandsfor: I 128. [ CPROE1. .37 & ared € -

(a) Cardiac Pulsatu{%i!:visiou (@) FIETH YoheTger GOEA

(b) Cardio Programme[Rescue (b) wfsar om =

(c) Cardiopulmonar{ Revision & (c) IEAgeRd G

(d) Cardiopulmonary Resuscitation l‘i'!%i (d) FIfEage=h Tﬁﬂa'-{

129. A bus covers the first half of a certain distance with 129. UF =9 U= Fifi=a ?;3‘1 =Y geet et -@' v, DGR by

speed v, and the second half with a speed V. The FAT 2 quT A7 amfy 2 v qﬁ@wm% | gt g
average speed during the whole journey is : o 5g fi ﬁmnﬁm%ﬁ% )
2vyvy Viv2 2vv Vv
(a) - = (b) (a) 1%2 (b) 172
vy + v, it v, vi+ vy vi+ vy
(© ,/v v g 172 Ll it v,
1%2 ™ 2 © yniv2 @ —
":I'
130. (I;l)am;anuclzzi]r:::ismﬂ;?gfvc on land are called : 130. \ﬂﬁq{ﬁﬁaﬁq}a R T T FETA & 2
quat ~ (a) ety fare
(b) Abiotic ™ (b) =
(c) Biotic (c) =
(d) Terrestrial habitants (d) Tl Frard
131. The joint where the neck joins the head is : @ I8 WIS el e A fredtr 2 .
(a) Saddle joint (b) Pivotal joint (a) WA (b) fEeasre
(c) Ball and socketjoint (d) Hinge joint (c) did U Hihe Ag d) fEavre
132.  The disease-causing microorganism among these is : |132, TR @ (EEHEICEISIE: L
(a) Pathogens (b) Archaea (a) i"”?[ (b) rfeka
(c) Protozoa (d) Bacteria (c) W= (d) FFAf@r
------------------------------------------------------------------- P Y 1



®

DST.F-1-23

. Wh 4
133 0 among the following won the best actress award 133. Pefafaad @ i S 2024

in the Un Certain Regard cat
€
Film Festival, 2024 7 Bory of the Cannes w3 fomd o F e SR T o ST 2

(a) Anasuya Sengupta Loy I EA
(b) Kiara Advani (b) e sFrEaTft 9%%
(c) Sobhita Dhulipala (c) b !{E-WIGT' £ %22

@ AT oy

(d) Urvashi Rautela 8
134, wEeA-1l FETse & a'-(a\il % Preffas § & SH-E/A

134. With reference to RudraM-II Missile, which of the RTA R i
following statements is/are correct ? T gar-d-gar # A oy areh e g )
b Wisanie-torair missile. o e ier I 2024 ¥ ToRE fRaT AT AT |
2. Itwas tested in Rajasthan in May 2024, #2 Rumu e § Fad I ghT:
Select the correct answer using the codes given below : (@) Far1a€2 | (b) FaA2

(a) Neitherlnor2 (b) Only2
(c) Bothland2 (d) Only!

© 1323E (d) Fael
135. @-lﬁ@-ﬂﬁ@%ﬁﬁﬁqsﬁtqﬁﬁ%ﬁﬁq

135. Match List-1 with List-Il and choose the correct m{gm@nmaﬁmﬁﬁ‘q

answer using the codes given below the lists : a1 et -1
List-I List-TI (;aﬁaff:—,,amgﬂ%) @)
(Newly Elected Head (Country) A MamEdRe L 1. TEEdE
of the State) v :

A. Gitanas Nauseda 1. Iceland B. Fjﬂ?ﬂgﬁﬁ” o

B. Luong Cuong 2. Vietnam C. wea TMHEiT 3. fergentrar

C. Halla Tomasd(?mr 3, Lithuania D. WWW 4 Gl

D. Jose Raul Mulino 4. Panama

Codes : &

A B C D A B C D

@ 3 1 2 4 @ 3 1 204

® 4 1 2 3 ® 4 1 2 T 2

() 2 1 3 4 Q‘%% () 2 1 34 .t 4

@ 3 2 1 4 2y @ 3 2 1 4

(el
30) r21ARFEM™ 7?2
(a) Vaccine against Malaria developed by Bharat (a) WA FHERE RETEA g0 fasita @ &

Biotech International ﬁﬂ'ﬁT‘F?ﬁTﬂ o
Vaccine against Malaria developed by Serum (b) o 3&‘12_’3; T 3fear g g aaf &

136. What is R21/Matrix-M™ ?

(b)

Institute of India faars A1

(c) Vaccine against AIDS developed by Bharat (c) ¥rd TERE SEYAS g0 e e %
Biotech International faers dA

(d) Vaccine against AIDS developed by Serum (d) Hw Eege 3w fem g fsla wew %
Institute of India faams =t
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137.

138.

139,

; : in
Consider the following events and arrange thse !

chronological order :
. Hig B4
. orld Heritage Day Pt

2. World Thyroid Day
3. World No Tobacco Day
4.  International Day of Light
Select the correct apswer from the codes given below :
(@ 1,4,2,3 ™ () 3,1,2,4
© 42,31 J @ 23,14
<y

Match List-1 with~List-Il and choose the correct
answer using the cdodes given below the lists :

List-1 List-II
(Person) (Reason)
A. Gopi 1. First Indian Gymnast to win
Thotakura Gold at Asian Championship
B. Dipa 2. Indian born NASA scientist
Karmakar who led the team to study
solar ecliptic impact on
|/~ionosphere
C. Aroh 3/™-First Indian Space Tourist
Barjatya (‘:
D. Dev Patel =+British actor who made his
("directorial debut with thriller
e "“Monkey Man”
Codes :
A B C D
(a 3 1 2 4
®) 4 1 2 3
(c) 2 1 3 4
(d 3 2 1 4

Given below are two statements, one is labelled as
Assertion (A) and tlhc_‘ot.her as Reason (R).

Assertion (A) :*?During 2023 - 24, Singapore
emerged as the largest source of FDI to Indja.

Reason (R) : The India — Mauritius Tax Treaty
amendment has brought a major shift in countries as
major sources of FDI to India.

Select the correct answer from the codes given below ;
(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

()
(d)

137.

138.

139.

DST.F-1..23
P woehl T ReR AR @ gy

GE

ﬂ%ﬁqvq%ﬁﬁmﬂmgﬁq:
(a) 1,4,2,3 (b) 3,1,2,4
(c) 4.2,3,1 (d 2,3,1,4

-1 1 -1 @ gaftra A ot it & fg
T % %1 AT K e IW g :

et T

g M)éﬁqmﬁwﬁwvfaﬁa%
. Mt e 1. qRmEE
A areft gt widE formAre
B. dMIEmET 2. W@ H S NASA 31

¥ TN T I A

aTeft 19 1 Aqe R

3. gget Wy Safey vdew

4. fafeer sxfivar e firer iy
a7 & wry e Y yeta

C. ¥E
TSN
D. g9

%< :
(a)
(b)
(c)
(d)

A= 2 o Ry E, R o @ sifire (A) @
ZEL ! HIOT (R) FETTATE |

AfHA (A) : 2023 - 24 % e R, e F FDI
T A T HIT THHT I |

T (R) : WA — HOw F 6 d@vies @ wr 3§
vy fagelt Fawr (FDI) % v ot % w9 F 2w &
ST ITAT AT |

W N AW
- W NN A
& bW

B
1
1
1
2

ﬁﬁﬁﬂt‘;?ﬁﬁﬂiﬁmﬂﬁt:

@@ (AT, FEgER) @R

() (A) T (R) 3 & &, fig (R), (A) B
ST TE FAT R |

(©) (A)EARE, fFgR)Tead

(d) (A) @1 (R) 3H1 & & 3t (R), (A) B T

T FAT R |

........................................................
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140.

141.

142.

With reference to “India — Australia Economic
Co-operation and Trade Agreement (Ind-— Aus
ECTA)," which of the following statements is/are
correct ?

1.  This is a first-of-its-kind initiative of FTAs.

2. The meeting was attended by the Commerce

Secretary of India, Shri Sunil Barthwal,
Select the correct answer using the codes given below :
(a) Neither | nor2 (b) Only2
(¢) Bothland2 (d) Onlyl

Match List-I with List-1II and choose the correct
answer using the codes given below the lists :

List-1 List-I1
(Joint Exercise) (Dates)

A. India — Uzbekistan Joint 1. February
Military Exercise, 19 -27,
“DUSTLIK” 2024

B. India — France Joint Military 2. May 13 - 26,
Exercise, “SHAKTI” 2024

C. Harbour phase of Indo—-US 3. April
Joint Exercise, Tiger 15 -28,
Triumph, 2024 2024

D. MILAN, 2024 4. March

18 — 25, 2024
Codes :
A B cC D Bpe
ek
(a) 3 2 4 1
® 3 4 1 2
() 2 3 1 4
d) 4 2 1 3

With reference to “Shaksgam Valley”, which of the

following statements is/are correct ?

|. This valley isa strategic key region, that is part
of Pakistan-occupied Kashmir (PoK).

lodged protest against  the

2. India has _
nt being carried out

infrastructural developme
by China in this valley.

140.

142.

Select the correct answer from the codes given below :
(a) Neither 1 nor 2 (b) Only2
(c) Bothland2 (d) Only!l

DST.F-1-23

> T g
vaqrre — afrefern_anfis wedm i =M
(Ind - Aus ECTA)" F o= § frefafaa 7 @

P T T e

L = FTA (A, ¥ fan s e A T
TR
2, Mﬁm%mnﬁzﬂmgﬂaaﬂmﬁ
e |
3 e e e @ wE O %
(a) ATIAE2 (b) FAA2
) 132z (0 w1
@-lﬁ@-ll?gﬂ%ﬂmﬁt@ﬁ%ﬁm
T 52 < FAIT HLHE] I :
it wA-11
A T — ISR B 8 1, w@ft 19 -27,
anaT, ¢ ' 2024
(DUSTLIK)
B. NI — i §gh 44 I, 2. 7 13 — 26, 2024
wgifee™ (SHAKTI)
C. T — WY g ST 3. 3 15-28,
e AT, T TR 2024
(Tiger Triumph), 2024 3T
FERT 1y
p. fie (MILAN), 2024 4, W 18 - 25,
;‘11 2024
e T
A Bc b
™l
(a) 3 2 4 1
® 3 4 1 2
() 2 3 1 4
@ 4 2 1 3
berere ar )& v # frafafea | ¥ wA-|VA
FA AR ?

1 ﬁmmmﬁm@ﬁiﬁ,’&ﬁ
aifreT e Tl FTR (PoK) T fewan 1

2w A i < o @ g

¥ farr iy o AT R |
13 Ry # A e S
@ Fdiaa) gy e
(¢) 13M2EH (d) Fa«

...............................................................................
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143.

144.

145.

146.

D

R NI

DST.F.1_23
‘ . Joiatlida. T — SR Haw & gedm afify 6 :_
it eference 10 he 7 Indin—Lndones, . R iy
Defence Cooperation Committee meeting, SR ¥ T, 39 A
the following statements is/are correct ? I = Wj________ S ' L ‘#f{
l. In this meeting Indonesia agreed 10 .er‘;hance TgeefiT e & &4l § TEA W W Tk
collaboration in the areas of defence, industry, wars |
maritime security and multilateral cooperation. - m—ﬂ—-—\s 2024 S & R ¥,
2. This meeting was held at Jakarta on ﬁﬁqﬂﬁ%ﬁ@wmgﬁq
May 5, 2024. FHacT
Select the correct answer from the codes given below : (a) AWMITR 2 ® ad ;
(a) Neitherlnor2 (b) Only2 (©) 1323 (@ :
: .
() Bothland2 (@ Onlyl 1o | 144 “FWD 2008” % Tt & Frerferfiad 3 & A
With reference to “FWD 200B", which of the £ Cikve &)
‘;"”"“,;;‘ui ?:“E:;:?‘i_::: ':‘*:;;"g:;g:: biorsbier AR |, T WA F1 Teen TR aHatE “UAV” fmm g,
o Ias
Srorih 2. gl s gman IOOW%I
2. Its payload capacity is 100 kgs. Ei} ﬁqﬂg@ﬁﬂﬁé’!'ﬁﬂ' s
Select the correct answer fromthe codes given below : (@) JFA17E2 (b) a2
(2) Neither Inor2  (b)» Only2 (© 13f23H (d) Fa1
() Bohland2 (@ Onlyl 145. T Fr geh-1 & gRfera ARG AR gt F Ay
Match List-1 with List-II;;A!nd choose the correct T < T AT T T F AT :
answer using the codes given;below the lists : R
List-T ™ List-IT R . - o oy
(Name of the City) (Perlod of being (e T ) . ;
Planned) A. EFTW . ot
A. Kanchipuram 1. Post-independence B. 3Tenn 2. IRl TE
B. Jaisalmer 2. Colonial Period ot
C. Kodaikanal 3. Medieval Period c. >
D. Bhilai 4. Ancient Period D. femg 4. SR
Codes : &
A B C DY A B C D
@ 4 3 2 i~ @ 4 3 2
b)) 2 3 4 ,1:5 ® 2 3 4 1
() 3 4 1 2 o) ) 3 4 1 2
5 i EBiE
d 1 2 3 jﬁ] Elfgm (d 1 2 3 4 é‘g?i
Match List-I with List-IMdnd choose the correct | 146, R R afea Sifse aik it &
answer using the codes given below the lists : ;ﬂgﬁfd Eal Si.'\&l"T FLHE IaT ﬁﬁq : = f
List-I List-I1 g1 -1
(Famous Local (Place/Area) (;ﬁ?ﬂw =
Storm) T ST TP) (FITF/5)
A. Mango shower 1. Punjab to Bihar A. ST I dom @ faen @
B. Blossom shower 2. Kerala ‘ B. Gl aett s 2. WA
g. E:c:rwesters 3. Kmataka Coastal Areas C. Fa-aqrE 3. WaEAles Sy
. Loo 4 W\Esl Bengal D. & 4.  oiym s
Codes : P
=t &
A B c D " A B ¢ b
@ 4 1 3 3
(a) 4 1 3 2
® 3 2 1 a4y ® 3 2 1 4
© 1 3 2 |
l 3 2
(d 3 2 4 1 ) N
......................................................................... (d. 3.2 4. 1
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DST.F-1-23
147. ::::c dc;r the following pairs is mor correctly | 147. Rreferfiaa & & F-ar g ol gafera 78T 8 7
Ca;;itnl i
C @ g
(a) Khartou 0'-."‘"')’ @ }
} m = Eu’llOpin {b) :nq‘zﬂg_[ = WTRT(
(b) Naypyidaw - Myanmar © 3 J—
(c) Ottawa —  Canada &) waRE _
(d) Dublin - |
Ireland 148, ﬁq%ﬁjgguﬁgmaq_ﬁﬁmﬁﬁﬂﬂ-mﬁ
148. Which one of the following pai 4
10 pairs (Deccan Trap — e arTl qrest -Gﬁigﬁ
Peculiarity) is not correctly matched ? () ﬁai"“‘a"ﬁ“a a ﬁ-ﬁmﬁé
(a) Intertrappean beds — Fossils of sea plants (b) " zt;r froerd  — @A 1200 H
and animals !
saft dghrded - AT 450 HIZX
(b) Depth of middle trap — 1200 metres © &
approximately (d) ﬁﬁri‘?@m — o lsom
(c) Depthofuppertrap — 450 metres Frait e IREC]
approximately 149. :g?ﬁm feg e &, 3 f A Aywh
d) Depthofl - £ IR (R) el 1T
(d) Depth of lower trap 150me.trcs A) : Bt £ 3335 3 Seft T Sz
approximately arfireru : : $
o, 3t s i <o el et & S EEnd ¥ |
149. Given below are two statements, one is labelled as T (R) 4 3z urredY &Y =g Tid 300 — 500 et wifer
Assertion (A) and the other as Reason (R). e (e
Assertion (A) : Jet streams discovered during World i M T
War 11 are high altitude easterly winds. :ﬂ%ﬁqm‘f&ﬁﬁuﬁm ’
Reason (R) : Jet streams flow with a speed of (@) (A)TRI g, ﬁﬁ: (R) w@ R
300 — 500 km/hour. (®) (A) 3 (R) SHT T g a3t (R), (A) FT TEY
Select the correct answer from the codes given below : ST AT § | l‘ilg!::l
(a) (A) is false, but (R) is true. . © (A) wEe, ﬁlﬁ (R) a2 | =3
(b) Both (A)_ and (R) are true and (R) is the correct @ (A) 3 (R) 2t ad & ﬁ"ﬁ R), (A) F¥ T
explanation of (A). #m% |
(¢) (A)is true, but (R) is false. )
(d) Both (A) and (R) are true, but (R) is not the [150. ¥=HI-I ﬁl‘fﬁ-[[ ﬁ'gﬂ‘f}ﬁﬂiﬁm ﬁ?ﬁﬁ%ﬁa feT
correct explanation of (A). !IQEEEHTT!TE?FT FL el mﬂﬁﬁ :
150. Match Li_st-l with Lisl—lll and choose' the correct =1 F@—H
answer using the codes given below the lists : (%7) e (qa‘a
] 3 - 1 . .
:‘;St-l ) I(;{st “, . A, WE=wH 1. 9™
ountry, ountain, i~d
A. Spain — France 1. Alps B. ih@\lt_‘éis 2. QAT
B. Switzerland 2.  Apennine C. gg_-rnf’(‘!n 3. fef=s
C. Bulgaria 3. Pyrenees
D. s HATeh
D. Italy 4. Balkan 4
Codes : f
A B cC D EyE A B C D
(@ 3 1 4 2 = (a 3 1 4 2
(b 3 1 2 4 (b) 3 1 2 4
(c) 4 1 2 3 (c) 4 1 2 3
(@ 2 3 1 4 d) 2 3 1 4

................................................................................................................................................





